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Question Bank

QueStion(11) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Aptitude Set A , Subtopic : Aptitude Set A)::1

* Question Level: Select Level v
Your Boss is short tempered and always shouts at everybody, you will:
Your boss is angry and always yells at all look like you? Comment:

O

Take sportingly and look for some ways to control his temper.
Don't take it too seriously and find some ways to keep his anger under control. o~

QUPITITI

* Validated By:

O

Feel that Boss can have short temper, as he has a right to shout at everybody.
Bosses are angry, so it is normal for him to get angry with someone.

O

Tell him that he is wrong as he has no right to shout at everyone.
Tell him that he is making a mistake and he has no right to be angry with anyone.

O

Tell your boss how you feel and that this situation is not acceptable to you.
Tell your boss how we feel and we don't accept this situation.

QueStion(12) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Aptitude Set A , Subtopic : Aptitude Set A):2
* Question Level: Select Level v

While going to your Office, one day your neighbour asks for lift, for going to his office which is
in opposite direction, you will Comment:
have a day at the office while your neighbor is opposite asks you lift towards you

O * Validated By:

Tell him that it may not be possible. T
Tell him it is not possible.

O

Tell him that you are not there for these kinds of jobs.
Tell him that you don't do such things.

O

Shout at him that you are getting late.
Shout at him that you are late.

O

Politely refuse him that his office is just in the opposite direction and that you have to reach office on
time.
Refuse politely that his office is on the opposite side and that he has to reach office on time.

Question(13) Current Question Difficulty Level: 1

(Stream: NCHM NTA Set A , Topic: Aptitude Set A , Subtopic : Aptitude Set A):3
* Question Level: Select Level v

Your driver’s daughter is getting married and he needs some money, you will

3TUP BR AP BI TSB! B [4dT8 TaTdT & 3R IV T© FUUI B 1od US! §, MY Comment:

O * Validated By:
Ask him to take a loan from Bank
I §F I B o B FR | Soorm

O

Give him some money which is in your capacity & ask him to refund

ST AT & SER, 39 PO WU S 3R a0y &7 b1 B |
@)

Straight away refuse him as you have nothing to do with that matter

1Y SHR IR < Fifeb MTHT 39 AN J HIS Yag T8 3|
@)

Raise a fund from your friends and help him.

ST I § Y THIAT P I GeTadl He|
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Question(14) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: Aptitude Set A , Subtopic : Aptitude Set A):4
* Question Level: Select Level v

In your Society, you have people throwing garbage here & there, you will

T3 ¥ $B AN B BT FER-IR Bavd §, 3T Comment:
@)

Try to educate people and keep a dustbin in Society

AT Bl TR TFBRY < 3R Jrge! H Ueh Sl waar 2| SUDT
@)

Forget as it is not only your job

U S 341 b I8 3TaehT B T8l B
O

Penalise the person who is throwing the garbage
ifed B3

Fel B aTal AfT HY Sfd B
O

Nothing can be done

Fo ot 7 fvar o S 21

* Validated By:

Question(15) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Aptitude Set A , Subtopic : Aptitude Set A):5
* Question Level: Select Level v

After studying hard for your exams, you did not score well, you will

3! Ttensit & g FEt Aga F3A F aTavg, STUS =y TR T8l MY, 3T Comment:

O

Stop studying hard
FS! HEId PAT 9 PR G Saor

O

Start blaming the teacher, that he is unfair
R1gie W YU XA HT1 S TG ¢

* Validated By:

O
Continue to work hard and perform your duty to show better results
HI AGAd HRAT IR W, BT oIRT I, orad 3 uiRumd e g1 9 |
O

Ask your friends not to study hard as they will also not get good marks

3T ot Bl UeTS A Bl Hed 1 R &1 qaTg & wifeh SHY S1h 37wy e gl ST |

Question(16) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: Aptitude Set A , Subtopic : Aptitude Set A):6
* Question Level: Select Level v

Due to your mistake your car has hit an old man who was riding a cycle. You will

MMQWMWQWWW@WE‘IWW&%W Comment:
O

Run away from the place

I RIF Y TR UF S| SuorT
O

Start shouting and blaming the old man

fad W RIeerd gu SRIfUd S|

* Validated By:

O

Ask your friend to get his cycle repaired

3T i § ID! AR h e B! IR PR Bl Fadl|
@)

Feel sorry, pay some money to get his cycle repaired and arrange Medical Aid.

T I, SR 3 WIEfrd B IRWd B 7 U 37 SR fafase weTadr Bt sgaw w4
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Question(17) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: Aptitude Set A , Subtopic : Aptitude Set A):7

* Question Level: Select Level v
While you are about to cross a major crossing, you notice a blind man struggling to cross the
road. You will Comment:
9 3MY T g TR1E B TR HIATA & &, 99 SATTh] Tep ST S TRTE & IR H1 & o Fay
R gU feman &, amu .

* Validated By:

O [ i

Ask a young boy to help him cross the road

T A9 d5P B! JSP UR HA H B! JgIdl B3 Bl B |
O

Go and catch his hand and help him cross the road

TR TBR SUDT BTY UHS R TSH UR B3 | STD! Terdl HY |

O

Curse the blind man and say why he should come to such busy roads

3 HfHT P Sie T 3R e b Y 98 Tt oo I W 3T Bl

O
Continue to go your way and ignore him
ST IR TR T @ SR SR AH A
QueStion“ 8) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: Aptitude Set A, Subtopic : Aptitude Set A):8

* Question Level: Select Level v

At the Airport, Security asks you to remove your shoes, belt etc. You will
TP TIRUIE W YT SARIBRY SMUHT 39 9d, Jee 3fe Fp1em & dgar 8, 3 Comment:

O * Validated By:

Do it as per instructions
SICRN & STAR 39 [T B SUom

O

Refuse, as they are your personal property
THR IR < Fifeh T8 SMM! AfdaTa Jufy 31

O
You will call the Police for help
3T TR & fore gfery gamu|

O

First you will fight with Security. After that you will remove it.
TG MU GR&T ATl T ASTs BT, & H 3 b1 |
Question(19) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Aptitude Set A , Subtopic : Aptitude Set A):9

* Question Level: Select Level v
Your Classmate is very rude with the Teacher. You have seen him talking rudely many times. You
will. Comment:
STUHT TEUTS! ATIH T Tgd AT FTER FHRaT § 3R MU 3/ 95 IR AT Ta8R F3a g
3Mq

@y, * Validated By:

O

Ignore as this issue is between him and the Teacher

A B 3T 3 ) b I8 I Ud 3/ehT0eh & s T AT 81

O

Talk to his parents and try to find out why is he behaving like this
ISP ATAI-UdT & 3D 39 UHR & AGER B! IHars el

O

Ask your teacher to cut his name from the Class as it is disturbing to entire Class

HIH Y BT Y IH BT B g 1T ST TRI FefT BT 1e ugaaht 31
O
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Talk to your friend reminding him that Teacher is to be respected.
Y 910 IR TAY S SIS J THR & AT &1 Bt ANy

Question(20) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: Aptitude Set A , Subtopic : Aptitude Set A):10
* Question Level: Select Level v

Your Boss has shared with you a new plan for the Company, You will

3MU® S 3 m%mw:ﬁs ?ﬁﬁﬁ%m Comment:
O

Leak the plan to the Competitors

wWeeh] B Ao B! SHBRI S S SUoT
@)

Share the plan with Colleagues immediately

T BT & FTY Ao Bt = B |
O

Keep it confidential as it is a new plan

e % U T Tl € TG S oA @
O

Share only with your best friend

& 1Y I B |

* Validated By:

Question(21) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: Aptitude Set A , Subtopic : Aptitude Set A):11
* Question Level: Select Level v

After reaching the destination, you come to know that the Airline Company has forgotten to load

your luggage. You will Comment:
Tided W W UgH & 918, Udl Iadl ¢ fob TaRarsd $U= MU ATHH B drs HAT

S TS &, 39

O

Start shouting at the airport as it is not your mistake

TIRUE R I Yo &R & Rilfh T8 MU e 78 81

* Validated By:

O
Complaln to the Police Station about the |nC|dent
TIRAEY HU & g RIFT giery ©eH & Riemd as #R ¢
O
Give in the Print Media about the incident
Y 5 U S TR A1l D |
O

Forgive them as this happens very rarely

I HIG R < ) b 1 H-pit € ear B

Question(22) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Aptitude Set A , Subtopic : Aptitude Set A):12
* Question Level: Select Level v

Everyone in your Class has received new uniforms except you. What would you do ?

W,Ma?&nﬁﬂﬂﬁﬁqéqﬁmﬁﬁaﬂ%%aﬁmwﬁﬁ? Comment:

O * Validated By:

Ask your Uniform In charge and question him why you have not got a new set of uniform
AT THR T U 3R IR UY $3 S 0 IQ gRE &7 a1 e T e 82 .

O

Complain to the Principal

O

Purchase from the market & submit bill to the School

TR J WIS o 3R Hd & o uher
O
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Keep on coming to the School without uniform as your have not been provided the same

e 7S greTH fireh € T8t 8

QueStion(23) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: Aptitude Set A , Subtopic : Aptitude Set A):13
* Question Level: Select Level v

Your Office has gifted you a Diwali present, which you did not like much. You will

ﬁmmm%mm&ﬁ\wmﬁm%,m Comment:
O

Return it
I IOY HR & SUoT

* Validated By:

©)
Exchange with friends
i Tead
@)
Sell in the market and get money

T IOR H 99 HR YR A o

O

Accept gracefully
T8 Hag & T WHR HY

QueStion(24) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Aptitude Set A , Subtopic : Aptitude Set A):14
* Question Level: Select Level v

Even after taking coaching from an Institute, you failed to get admission through competitive
exam. You will Comment:

31T TP TR F HIRAT A9 & dracie, M7 ufeai it wdien & uasr a4 § 3 wpd 764 &, 37

* Validated By:
O

Ask the Coaching Institute to return money BT
HITT YR BT YRR AU FH=A Bl HR |
O
Ask your friends not to join that Institute
ST ot & T F e e o o |
O
Try sincerely this time
TS HARINT H 3TelT SR IR BT |
O

Ask for 1 year free coaching

TR Q% ¥ & fore -y Sifem A

Question(25) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Aptitude Set A , Subtopic : Aptitude Set A):15
* Question Level: Select Level v

You are the Principal of a School. One of your teachers always comes late. You will

319 T e & yrard 3, TUsT T SieaTaes gAs 381 A SHTelT §, 39 Comment:
O

Terminate him immediately
I G a1 § Fara SuoTT
O

Initiate disciplinary action
TRWY BT

* Validated By:

O

Call him and counsel him

I FATHR RIS &
@)
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Ignore his mistakes

e

Question(26) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: Aptitude Set A , Subtopic : Aptitude Set A):16
* Question Level: Select Level v

While staying in a Hotel you have given a shirt for laundry. Upon receiving, you found that shirt
is damaged. You will Comment:

% glecd § W61 & SR, 3ATUR YaTs & e ue Hiter §f i, arowy firam w = 3@ % 9 sl
B JHU UG 3, MY

O

Vacate the room immediately

T BRI el I |

* Validated By:

©)
Ask for the money against the damage
FHHIe H U THIH B HRUTS AR |
@)
Call the laundry manager and lodge a complaint
i P U R RIPTad Tl S|
@)

Inform the person who is giving the shirt to you and advise him not to repeat it

319 T HHIS < ATl TR T A1 PR ST SR B! TRIGHRT 1 B Bl Dol |

QueStion(27) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Aptitude Set A , Subtopic : Aptitude Set A):17
* Question Level: Select Level v

In your opinion, how the poor should become rich :

3MUH! I | T TR A A o=l g1 G182 Comment:

O

The Poor should not dream to become rich
T B e BN % WO T e e .

O

The Poor should be given good education, to help them find a job

RIS BT oSt e < ST ey S 9% Sfest e e H Were gl b |
O

Nothing can be done
FS eI fora o bl B

* Validated By:

O

Govt. should give money every month to the Poor

DR B! TRIF B! TS HE ¢=RIRT St A1yl

QueStion(zs) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Aptitude Set A , Subtopic : Aptitude Set A):18
* Question Level: Select Level v

In a city, a large number of clubs organize Blood Donation Camps. You feel

WW‘}WWWWWW%,MW%% Comment:

O * Validated By:

Some Clubs are really doing a very good job to serve the society
PO IT JHS B aT S O, IRa H, T5 BT HH IR W 7 | .

O

Most Clubs are making money, selling blood in market
21 979 STOR J Yad SR 4RI BT R

O

The concept of Club itself is useless concept

TS o1 R & 3 3y & U pHgA faaR B
O
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Clubs are doing just to get money from the Government

RIe WHR J YR UM & 70 & 98 S B @ 8

Question(29) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: Aptitude Set A , Subtopic : Aptitude Set A):19
* Question Level: Select Level v
During your final examination D. J. party is going on next to your house. You will :
3Mue! 3ifaw 9 F THam & SR, P TS # T 1.9, urdf $1 &1 @ 8, Sy Comment:
O * Validated By:
Try and ignore the issue
B FRA B IR B Soorm
O
Politely request him to play music softly
AT W I DI HH B BT SHRIY B |
O
Go and pick up a fight with him to stop the music
Tid §& B & R T8 S TS o R 371
O
Go to friend’s house and study there for exams
P TR SR To1 TRI&Sh & g seaae S|
QueStion(3o) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: Aptitude Set A , Subtopic : Aptitude Set A):20
* Question Level: Select Level v
Near your Colony, some people are cutting trees, you will
F U, $O A1 US] &1 PIe @ & 3R 37 Comment:
O * Validated By:
Ask your friends to do something about this matter
P A ST IR T 50 B DI BTl Soonm
O
Think that this to be dealt by the Government only
e, 39 TR & WBR S $& HAT AT
O
Go and talk to the people who are cutting trees and make them understand the benefits of trees
I AN P I ST, S U e ) & 3R S 9aTd [ US! ¥ 5 o A fired g
O
Straight away file a complaint in Police Station
T ey TR H U RIerd gl o2 &l
QueStion(31) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Aptitude Set A , Subtopic : Aptitude Set A):21
* Question Level: Select Level v
In your Class one boy who is differently abled. Most of your friends avoid interactions with him.
You will Comment:
3TUH! F&T 7 Th ASPT ST § 3R TP A= iy ITA 91d B3 # WRew $d §, 37
O * Validated By:
Try and ignore that boy, like many others SO
301 Y e oMy ot BRI R, I SFeE B |
O
Request all the students to help him
Tt BT A D! WETIAT B BT RIY HT |
O

Always be in touch with him, and provide assistance as needed

Fdal I Y QT 3R MAIHITIR IY Tl YeH B |
O
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Give him money as and when he requires.

S Y, I8 SeRd U3, I UARIR <A @A

QueStion(32) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: Aptitude Set A , Subtopic : Aptitude Set A):22
* Question Level: Select Level v

Your boss criticizes you in front of your Colleagues. He does it repeatedly and this makes you
feel insulted. You will Comment:

STUHT ST TS =T BTGl S I MIST STAIT HIaT & 3R 98 VAT IR-IR BT § 5
FITTHT% A s * Validated By:
O A
Complain to Seniors
R Y R 4
O

Ignore the situation

fRufer 1 s e 38|
O

Talk to him openly about the way You feel and request him not to do it any more

I GABR TG F T B 3R ITY B! TRIGRT Tl HRA BY |
O

Go to other staff members, discuss with them and talk to him jointly

3 G T & OISR T i SR S & ) a1 B

QueStion(33) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Aptitude Set A , Subtopic : Aptitude Set A):23
* Question Level: Select Level v

A classmate of yours tells you in confidence that he plans to report sick, while he is actually

going for a movie, what will you do? Comment:
ATTHT TH TEUTS! ﬁgﬁﬁmm%%mﬁ@mmmﬁmwﬁwﬁw

3T 1 Y@ 7, SHT9 FT

* Validated By:

O
Inform the class Teacher
BT HAUD BT R DL
O
Not do anything & let him go
FT T HI AR IV T &
O
Tell him to be cautious and ask if he needs some cash

I AT Y6 B Fg IR I FS 4RI B SRR § ol T HR|
O

Advise him to be honest with his class

I Tare ¢ b a8 orueit Ferl & Ul SHFER SR

QueStion(34) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Aptitude Set A , Subtopic : Aptitude Set A):24
* Question Level: Select Level v
The work of a subordinate or a Team Member of yours is not up to expectations. What will you
do ? Comment:
MUt A F Y A F TP TG BT BT ATTSBT TS F Y 78} 8, AT FT B2
O * Validated By:

Report to higher Authority m
I YT I MBI Y S|

O

Insult him for not doing his work properly

Ifd TR R B A B & T I oG B
@)
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Ignore the issue as it is not improvable

, TP T PIs YUR el & JbaT § |
O

Talk to him in person about the issue and provide all assistance required by him to improve

TR IR, I AW BT 9 B R TganT S o 98 JUR 81 Tb |

Question(35)
(Stream: NCHM NTA Set A , Topic: Aptitude Set A , Subtopic : Aptitude Set A):25

What would be your course of action if management changes priorities of a Project suddenly?
Y GRT, 3AS TRASHT 91 URifrwarsi § 9garg o34 R, STUs 31 $t S1Rars 3491 gRit?

O

Immediately leave that Project

RIS B R B A1
O

Notify everyone working on the Project of the changes

f T P I U e BT 3T IGAd B STHBRY S|
@)

Ask all the members to leave the Project
T Tewd § e BieH &1 Had|

O

Register your grlevance as you don't like it at all

b SMUD! T8 TRG ! & FHCY 37U FRprad &t S|

Question(36)
(Stream: NCHM NTA Set A , Topic: Aptitude Set A , Subtopic : Aptitude Set A):26

You see some persons are trying to rob an old woman by snatching her purse. You will

T 3Ea 2 Po dsd U@ 98 "t &1 U 919 B 89 e ST U4 HY I8 ©, 3

O

Start shouting & try to save her
R L3 A Td I T H YA B4

O

Go away from the place
39 T I g N

O

Call the Pollce and wait there
3R IS SAR B |

O

Ask the woman to leave her purse

Tfger ¥ 3T ™ Bied & FA|

Question(37)
(Stream: NCHM NTA Set A , Topic: Aptitude Set A , Subtopic : Aptitude Set A):27

In case your school switches over to new Technology for modernization, as a Principal
You would:

Tfe 3 e & snyfaiewur & fore 95 Sh-arel RITMIT #1 IRE § @ Th W & dR W)
3Mq

O

Make arrangements to train staff as per the new Technology
TIH Bl T3 ThAaren b SIER, URIET B3 &) TR H3|

O

Remove all the staff who are not familiar with the new Technology

S W 7S T & Uk el §, 3= e &
O
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Current Question Difficulty Level: 1

* Question Level: Select Level

Comment:

* Validated By:

Current Question Difficulty Level: 1

* Question Level: Select Level

Comment:

* Validated By:

Current Question Difficulty Level: 1

* Question Level: Select Level

Comment:

* Validated By:

v

v

v
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Forget about the implementation of new Technology
THAAST &

P Y S|
O

Get rid of the employees whom you think are surplus
FS FHAN B a1eR R 37 o 3y sifafead A &1

Question(38) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Aptitude Set A , Subtopic : Aptitude Set A):28
* Question Level: Select Level v

In your opinion, you consider a person as a good human being if
I ¥ 3Y U fa P 33T AR JHS, Comment:

O

He praises everyone all the time
I8 &R TH Tl Y R R ¥ Seom

* Validated By:

O

He lends money to everyone all the time

g X 0T I 1 4RI SUR ST 8|
@)

He always helps everyone when they are in trouble

I8 TR WM & gad & quft Bt Fererar sra1 g
O

He remains with everyone all the time
I8 bR 9t gad Tt & A @A B

Ques':ion(39) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Aptitude Set A , Subtopic : Aptitude Set A):29
* Question Level: Select Level v

If your elder brother does not look after your old parents well, you would

gfe, STUHT TST HIS 3MUP g ATAT-FIaT Bt WU &1 HaT 8 af 3T Comment:
O

Like to talk to your brother about this issue
3 Y H, 31 30 HIE T I1d AT GG Bl | SuoT

* Validated By:

O

Feel that the old parents have got to live like this only

g AN b g¢ ATa-ar &) Faat 2t UHR J g1 gh
O

Feel that it may not be possible for your brother to do the needful due to some problem

g U § P et RO & Sovd Y a1 1 3P HIE T I 8 Tobal g
@)

Tell your parents to adjust with the situation

ST AT-FAre @ & % 3 R F SER Imiere JoTu)

QueStion(4o) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Aptitude Set A , Subtopic : Aptitude Set A):30
* Question Level: Select Level v

While working in a Hotel if you came across a Guest who is unhappy with the services and starts
misbehaving at the Reception with you, you would Comment:

% gled § BT HId THY, 3ATUP U1 DT Jarai & RIgY ifafy 3imar § 3R 3mud w@rrd wef &
glaER B T &, 3

O

Keep yourself cool and tell him / her that you would do your best to help him / her

STH] YT TG B I3 el b a6 3MUD! Y a1 B 1 B |

* Validated By:

A mn
QUPITITIL

O

Tell him / her that he / she has no business to misbehave at the Reception

I8 FE b IY WHa-5el § godER B $T BIs Aaad el 8
O
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Inform your Manager & and wait for their instructions
TS B ied HR IR BT AR B

O
Call the Police & handover the Guest

e gey SR SR I gfer 1 Ao &

Question(41) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Aptitude Set A , Subtopic : Aptitude Set A):31
* Question Level: Select Level v

Describe how you would handle a situation where your Company is resisting a new idea or
policy Comment:

g FATE od TP BT TP ¢ fIaR sryar ifa ang == & faawr o2 & 8, 99 oy 59 fRufa #t
Y FUAT

O

Tell them you already know everything

I FE o o0 U I & Tepe I B

O

Tell them that you are already qualified and trained
b 3 Ued ¥ & SRt Td ufkifa 31

* Validated By:

O

Understand the benefits and implement the new idea or policy

T Y Sl SR 7Y famR sryar Hifd B AR |
O

Understand the new policy but stick to old policy only

7% ifd &1 T o Al Paa R AT R F R

Question(42) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Aptitude Set A , Subtopic : Aptitude Set A):32

* Question Level: Select Level v
In a class, you find that the Teacher has a thick accent and you can’t understand, what’s being
said, what would you do ? Comment:
TP P& H 3T UId © 5 T 3eATTh BT IHRUI T ¢ 3R T 98 BT 8 8, 37 I8 THST T8 urd
&, 99 3T T B ?

* Validated By:

O -
Point it out to the Teacher about it o
3EATUP T 3P IR § Fand|

O
Ask someone to translate everything that what the Teacher is saying
foreft ok 1 39 Tt FT SFATE HRA DI g oY SHeATIS A FHeT &

O
Try your best to understand what the Teacher is saylng
S it sreaTue ST ¥R §, I WM @1 Ol B

O
Don't attend the class and ask your friend to teach you later
& T SR ¥e SR 3o i 9, a1g 7, ugH & g &3
Question(43) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Aptitude Set A , Subtopic : Aptitude Set A):33

* Question Level: Select Level v

As per you, which is the best quality one leader should have :

SR Th a1 § gafeH T[0T 1 E?r %‘7As per you, which is the best quality one leader Comment:
should have :

* Validated By:
O

Function accordlng to his / her own style & need not bother about others' opinion

ST Aeht B TR B DY 3R SR BT I B e o1 S
O
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Listen to others and then accordingly tackle the situation
30 B YA, 79 UMY T TGTIR THAT Y|
O
Go always by what others say or suggest
Ted 3 ol HEd 8, MU JaTE 3d 8, 3P 3TIR 3 7|
©)

Wait for others to take decision

fvfg o9 & for 3Fg ATl &1 Aok B

QueStion(44) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Aptitude Set A , Subtopic : Aptitude Set A):34
* Question Level: Select Level v

A group of people were beating a thief on the roadside who has been caught red handed. Your
reaction : Comment:

il BT TP THE TP IR Bl P & (PR Uie TeT & o T g1 UwsT 7471 €, 3yt ufafspar

O * Validated By:

Will inform the Police and hand him over to them oI
RerT 1 Gfrd B 3R ITHT I Wa

O
Will allow people to keep on beating

[ Eul

O

Let him go after advising him not to repeat
I IR T FRA F TS UIS UgIaR, BIS il

O
Will myself start beating him until he bleeds

I9F IRR VG Ao ad o +f 39 died 8

Question(45) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Aptitude Set A , Subtopic : Aptitude Set A):35
* Question Level: Select Level v

According to you, in Election you should vote :

STUF STAR MTIH! g9 | fFd die 1 Anfgw? Comment:

O

Who happens to be rich
S T e B B SO

O

Who is well educated and also a man of good character

St I R 8 3R Rt =i a1 8l
O

Who just happens to be known to your family

e 2 gRaR & W TgaH gl
O

Who just simply belongs to a political family

S had Teifae IRaR B gEUR F SfaT 8

* Validated By:

Question(46) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Aptitude Set A , Subtopic : Aptitude Set A):36

* Question Level: Select Level v
You are working at the Reception of a Hotel. Presently there is no guest at the Reception. You
will : Comment:

3TY TP §lce P TN Bef § BT &, T 97T § WRA-$& d 1S rfafy 7Y @ oy

O * Validated By:

Be attentlve & remain present at the Reception only O

3R TTTd Hef W € IR A
O
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Start watching videos on mobile
R IS ST UR™ R &
O
Go to Cafeteria & relax
TAUH 7§ ST 3R STqu B4 |
O

Start talking with your family and friends over mobile phone
TR 30 URaR Td Bl § ST H31 TR &R &l |

QueStion(47) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: Aptitude Set A , Subtopic : Aptitude Set A):37
* Question Level: Select Level v

A teacher of yours, always make fun of you in Class. You will :

TP SHATYP TS H&T T U STUHT HlTH GTdT & 3T Comment:
O

Ignore and focus on your studies
SIS IR, 3O UgTs B &9 S| SuoTTt
O

Complain to the Chairman of the School

A P IR I Rrprd w41
O

Never attenq his/her Class L

Ercikzakalikr RIGE Rl
O

Change the_ School
T g&d ol

* Validated By:

Question(48) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Aptitude Set A , Subtopic : Aptitude Set A):38
* Question Level: Select Level v

Due to security reasons, Security Services have locked down the Hotel, You are inside and in a
hurry to get back home, what will you do ? Comment:

TR BIRUN T, Ted Pt JR&T Ja13if H1 d¢ $ {37 §, 37 37eR I8 Y § 3N W a1y o B et
|, | 319 ?
O
Check for any sign of immediate danger and open to leave
THTA TR Bt 5ird X AR s F forg b
O
You are sure that it is just a drill, so you will open the back door, which is locked from inside
SIS IRT U § oI5 U 3@ 7, 99 o9 e exaren @iad, ot 3R ¥ 96 71
O

Remain calm and wait for Security to give instructions

Rl T TS GREM TITUNSH 1 SaoR B

* Validated By:

O

Put some music on mobile and enjoy your favourite songs

Targe ¥ Wi @y 3iR 39 URig & I BT HeT o |

QueStion(49) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Aptitude Set A , Subtopic : Aptitude Set A):39
* Question Level: Select Level v

You have promised your friend to go with him for a movie on Saturday. Your sister falls sick on

Saturday and would like to stay at home. What would you do ? Comment:
3T 3 i A AR &1 T gdt 3T &1 Iaer fohar €, Ut afe+ AfHaR &1 SR us vt §

SR 3T TR | TE+T AR, T T HA 2 Valdatea By:

O

Tell your friend that you have changed your mind

3 3 &) TaTy b 3Tom arger sae lean g
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O

Go for the movie as you haye promised

IS P SIER Tt G S|
O

Apologise and make fresh promise

HIH! A T4 T 11 Iraal B |
O

Tell him tgat you are sick, so you can’t go with himﬁﬁﬁﬁiﬁ@ﬂﬂ%mmwu@mﬁ
S gHd B

Question(50) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Aptitude Set A , Subtopic : Aptitude Set A):40
* Question Level: Select Level v

When you hear the news of a soldier getting killed on the borders, you feel

w9 3y e & AFH & 7R P @R YA €, 99 o9 W Comment:
O

He is paid by the Government to die for his country

T2 39 & U IRA ¥ WHBR §RI 3 AT Sar g1 SOOI
O

It is a part of his duty to sacrifice his life

I F Sfia BT SfereH SU@! Sg¢ 31 U fRwm R
O

Such soldiers must be honoured by us

T AT BT 5HR GRT T 3R AT AT
@)

All of us should go to borders to help soldiers

7 quft 1 e o SR AT Bt T Sl = fRul

* Validated By:

QueStion(51) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Aptitude Set A , Subtopic : Aptitude Set A):41
* Question Level: Select Level v

You think that you have been given too much extra work by the School, due to which your
studies are getting hampered. You will : Comment:

3Ty T & 6 3mues! faemer g1 9gq oiftes sifafvaa o faan rar 8, o smuest ugrs o1
T I ET &, 31T

O

Complain to your father about it

3P IR & U fcroh § Rierd S|
O

Complaint to your Principal about it
TS IR H 307 U F Rierd B4
O

Tell everyone about it

it YS9 IR H Fana|

O

Talk to your Class Teacher about it
SO HETHTIS H 3D 71 B4 |

* Validated By:

Question(52) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Aptitude Set A , Subtopic : Aptitude Set A):42
* Question Level: Select Level v

A street light in your Society is not working, you will :
‘137 ?{ﬁe’ t'ﬂgt oiet TTE"T Tf?f %, 3 Comment:

O

Ask for some donation and get it repaired

TS IRGH ANTHR STBT IREA IR AT | SO

* Validated By:
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O
Inform the local Municipal Corporation to get it repaired
R TR U1 &) g8 AR o o1y gfeid |
O
Do not worry as it is not your job
forea =T B8 P T7 SMUHT HTH T B
O
Put up a signage to highlight the condition of the light and ask people to be careful

TMEC P STE, TP WIS T &1 3R AT} bl |G I8 B heil|

Question(53)
(Stream: NCHM NTA Set A, Topic: Aptitude Set A, Subtopic : Aptitude Set A):43

In your opinion your Colleague is very stubborn. You will
I Y ATUBT Uh WEHHI 9gd AT &, 37

O

Inform other Qolleagues !

3T TEH AT F ITBT SATAIT HR |

O

Inform your Boss

3O Y § IS RISd B |

O

Keep talking to him and counsel

EAREICERCREIRE LRI

O

Speak loudly to make yourself heard

SIR-GR ¥ foreamed foTe Sue! g1 o 9o |

Question(54)
(Stream: NCHM NTA Set A, Topic: Aptitude Set A , Subtopic : Aptitude Set A):44

According to you, for most jobs it is most important to hire persons with good attitudes and
adequate intelligence rather than the ones with technical knowledge

3TUP AR, T 9t Aefeal & ug
gl ara wHaTal S e fear s
©)
As per you, more qualities are required
3FER 3R 3 0l BT Sfazgesal eI 81
©)
You agree with the status

3T I 39 Ry | werd g1
O

You disagree with the status

310 Ie! R § Tewd 781 €
@)

As per you, technical knowledge is not required
SIS TR THD! I DI HIIDHdl el 5|

Question(55)
(Stream: NCHM NTA Set A , Topic: Aptitude Set A , Subtopic : Aptitude Set A):45

While making some changes in Company policy some of your staff think that changes create
anxiety and not opportunity, then you -

T $ URadT $d Y, TS B L6 I Wd ¢ fob TRad=1 I 3aaR T8l ==
IA gl §, 3y

O
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Demonstrate your genuine concern
Ikl
O

Do nothing about what your staff think
TP T I Gred § 9T &1 I |

O

Ask him to speak to HR

ITH! TIIR I 1 B BT h |
O

Tell them the decision was not yours but of the management

I e b ug Fufy yeed &1 8, 3761 781 81

Question(56) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Aptitude Set A , Subtopic : Aptitude Set A):46

* Question Level: Select Level v
You received a spam mail that you have won some cash prize, and to transfer the same, you are
required to send your bank details. You will Comment:
3TUH T TH A e & fF SMU U Aohe RIBR SidT 8, 39 U &34 & T 3! 3rve 9@
faaxor 9o g1, e

* Validated By:

O -~
Immediately begin to send bank details o
TR S fqazor OoFT & AR S

O
Will keep aside this mail and will not reply again
et bl Yot ST SR GIRT SfdTe e 37|

O
Just keep on thinking why you have received this mail

) o5 siTae! o8 Od ot e 31

O

Will make a complaint to the local Police Station
] am

Question(57) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: Aptitude Set A , Subtopic : Aptitude Set A):47

* Question Level: Select Level v
If you read “women as Teachers and maids while men as Doctors and Pilots”. This type of
atitude / deception is likely to promote Comment:
31T Ued B 5 “ufgant ue sreanus vd A Wafs vy Ue Side? Ud U’ 539 UhR & o 0
& T $ gerat fram .

* Validated By:

O -
Gender empowerment o

O
Gender stereotype

forr-foer

O
Gender role play

O
Gender constancy
fofT gHETan
Que5ti°n(58) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Aptitude Set A , Subtopic : Aptitude Set A):48

* Question Level: Select Level v

Sarthak is a day dreamer, having interest in reading books; not able to express his views before
seniors; non friendly and idealistic employee, the type of atitude he has
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AT ey draT o1 R gead T A S A At o aike, -l v areifere i .
F AT U fIAR e T8 BR Tl YT, SP! AHTUEGHAT ST UPR @ - omment:

@) * Validated By:

Extrovert I

O

Introvert

O
Ambient
Eliea
O

Athletic
‘-

Question(59) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: Aptitude Set A , Subtopic : Aptitude Set A):49
* Question Level: Select Level v

How would you handle, a drunken Guest in the hotel?

3P IR gled § TR Sfafy w1 39 uopR Hafa fear e Comment:
O

Embarrass the Guest especially in front of other Guests

Sfafy o faRwea o sifafy & I afsTd aap | SUDTT
@)

Deal with the intoxicated Guest, full of anger

T 3fffy Y Furer W

* Validated By:

O

Lock him until he behaves normally

9 P I8 FHI TAgR 7 B, 39 o g |
O

Deal with the situation in a calm, friendly way

U Y 2, ST aid § GHTE ST |

Question(60) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: Aptitude Set A , Subtopic : Aptitude Set A):50
* Question Level: Select Level v

What are the attributes of an effective learner?

Th g ﬁT?ﬂT?ﬁﬁ T |d&o1 aﬁ’ % ? Comment:

O

Self — directed
RSAETAR| SUDITI

* Validated By:

O

Curious and open minded

Iogeh T4 et feAmT
O

Self — aware
ESEIE]

O

Self-directed, curious, open minded and self-aware

w@-FERE, Ig®, gar fear td WIH

QueStion(61) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: English Language Set A , Subtopic : English Language Set A):51
* Question Level: Select Level v
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Each question consists of a word given in capital letters followed by four words. Choose the
word that is most nearly the same in meaning to the word given in CAPITALS. ABANDON

O

Leave

O

Condone

@)
Uphold

O
Support

Question(62)
(Stream: NCHM NTA Set A, Topic: English Language Set A, Subtopic : English Language Set A):52

Direction :- In the given sentence a word or phrase is written in capital letters. For each such
word four words/phrases are listed below each sentence. Choose the word nearest in meaning
to word in capitals.

The inspector was a VIGILANT young man.

©)

Smart

O

Ambitious

O
Watchful

O

Intelligent

Question(63)
(Stream: NCHM NTA Set A, Topic: English Language Set A, Subtopic : English Language Set A):53

Direction: Select the word which is most similar in meaning to AWKWARD.

©)
Rough

O

Clever

O

Dexterous

O
Skillful

Question(64)
(Stream: NCHM NTA Set A , Topic: English Language Set A , Subtopic : English Language Set A):54

Direction: Select the word that is most similar in meaning to AMASS.
O spend

O store

O Dissipate

O Scatter

Question(65)
(Stream: NCHM NTA Set A , Topic: English Language Set A , Subtopic : English Language Set A):55

https://nchm.nta.ac.in//bucketing/main.jsp
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In the given Question one part of the sentence has an error and the other parts of the sentence
are correct. Find which part of the sentence has an error and choose that part as your answer
out of (1), (2) and (3). If the sentence is free from error then choose your answer as choice (4).

O Vermin

O Does much harm
O to crops

O No error

Question(66)
(Stream: NCHM NTA Set A , Topic: English Language Set A , Subtopic : English Language Set A):56

In the given Question one part of the sentence has an error and the other parts of the sentence
are correct. Find which part of the sentence has an error and choose that part as your answer
out of (1), (2) and (3. If the sentence is free from error then choose your answer as choice (4).

O 1am very anxious

O to know how are you

O and your mother doing well
O No error

Question(67)
(Stream: NCHM NTA Set A , Topic: English Language Set A , Subtopic : English Language Set A):57

In the given Question one part of the sentence has an error and the other parts of the sentence
are correct. Find which part of the sentence has an error and choose that part as your answer
out of (1), (2) and (3). If the sentence is free from error then choose your answer as choice (4).

O Based on the newspaper reports

O we can conclude that

O many accidents caused by reckless driving
O No error

Question(68)
(Stream: NCHM NTA Set A, Topic: English Language Set A, Subtopic : English Language Set A):58

In the given Question one part of the sentence has an error and the other parts of the sentence
are correct. Find which part of the sentence has an error and choose that part as your answer
out of (1), (2) and (3). If the sentence is free from error then choose your answer as choice (4).

O He said it was the first time
O that such a trick

O is discovered

O No error

Question(69)
(Stream: NCHM NTA Set A, Topic: English Language Set A , Subtopic : English Language Set A):59

In the given Question one part of the sentence has an error and the other parts of the sentence
are correct. Find which part of the sentence has an error and choose that part as your answer
out of (1), (2) and (3). If the sentence is free from error then choose your answer as choice (4).

O He did not go

O tothe temple on foot
O he went by the car
O No error

Question(70)
(Stream: NCHM NTA Set A, Topic: English Language Set A, Subtopic : English Language Set A):60

Direction : In the following passage, some of the words have been left out. Read the passage
carefully and choose the correct answer to each question out of four alternatives and fill in the
blanks.

Q. The King was
O

Murdered

O

Executed

while he was addressing his subjects.

https://nchm.nta.ac.in//bucketing/main.jsp

https://nchm.nta.ac.in//bucketing/main.jsp

* Question Level: Select Level v

Comment:

* Validated By:

Current Question Difficulty Level: 1

* Question Level: Select Level v

Comment:

* Validated By:

Current Question Difficulty Level: 1

* Question Level: Select Level v

Comment:

* Validated By:

Current Question Difficulty Level: 1

* Question Level: Select Level v

Comment:

* Validated By:

Current Question Difficulty Level: 1

* Question Level: Select Level v

Comment:

* Validated By:

Current Question Difficulty Level: 1

* Question Level: Select Level v

Comment:

* Validated By:

19/72



8/12/2021 https://nchm.nta.ac.in//bucketing/main.jsp
O

Assassinated

O

Exterminated

QueStion(Tl) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: English Language Set A , Subtopic : English Language Set A):61

* Question Level: Select Level v
Direction : In the following passage, some of the words have been left out. Read the passage
carefully and choose the correct answer to each question out of four alternatives and fill in the Comment:
blanks.
Q. He would always be late with submissions because he would whatever he was * Validated By:

supposed to do.

O

Prevaricate

O

Procrastinate

O

Interrogate

O

Discriminate

Question(72) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: English Language Set A, Subtopic : English Language Set A):62
* Question Level: Select Level v

Direction : In the following passage, some of the words have been left out. Read the passage

carefully and choose the correct answer to each question out of four alternatives and fill in the Comment:
blanks.

Q. He talked on and on . * Validated By:

o i

Ad infinitum

O

Voraciously

O
Hesitatingly

O

Ad Interim

QueStion(73) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: English Language Set A , Subtopic : English Language Set A):63
* Question Level: Select Level v

Direction : In the following passage , some of the words have been left out. Read the passage
carefully and choose the correct answer to each question out of four alternatives and fill in the Comment:
blanks. His tastes and habits explain why he is always in debt.

O * Validated By:

Judicious "

ou

O

Moderate

@)
Thrifty

O

Extravagant
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Question(74)
(Stream: NCHM NTA Set A , Topic: English Language Set A , Subtopic : English Language Set A):64

Direction : In the following passage, some of the words have been left out. Read the passage

carefully and choose the correct answer to each question out of four alternatives and fill in the
blanks.

Q. We offer to all who ask.

O

Council

O

Councillor

O

Counsellor

O

Counsel

Question(75)
(Stream: NCHM NTA Set A, Topic: English Language Set A, Subtopic : English Language Set A):65

In each of the following questions out of alternatives, choose the one which is most nearly
opposite in meaning to underlined word.

Q. The ferocious ruler ruled.

O
Gentle

O

Barbarous

O

Fierce

O

Dangerous

Question(76)
(Stream: NCHM NTA Set A , Topic: English Language Set A , Subtopic : English Language Set A):66

Direction : In the given question containing main word followed by four words. Select the word
that is most nearly the opposite in meaning

Q. GRISLY

O

Attractive

O

monstrous

O
Disgusting

O

Loathsome

Question(77)
(Stream: NCHM NTA Set A , Topic: English Language Set A , Subtopic : English Language Set A):67
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Direction : In the given question containing main word followed by four words. Select the word

that is most nearly the opposite in meaning Comment:

Q. GRACIOUS * Validated By:

© e
Rude
O

Beneficent

O

Magnificent

O
Dignified

QueStion(78) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: English Language Set A , Subtopic : English Language Set A):68
* Question Level: Select Level v

Direction : Out of the four alternatives, choose the one which can be substituted for the given
words/sentences Comment:

Q. One who is not sure about God’s existence.
* Validated By:

O

Agnostic Suer

O
Altruist

O

Amateur

O

Ambidextrous

QueStionUg) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: English Language Set A , Subtopic : English Language Set A):69
* Question Level: Select Level v

Direction : Out of the four alternatives, Choose the one which can be substituted for the given
sentence. Comment:

Q. A lover of good food.
* Validated By:

O

Connoisseur

oupT

O

Gourmet

O

Honorary

O

Insolvent

Question(80) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: English Language Set A, Subtopic : English Language Set A):70
* Question Level: Select Level v

Direction : Four alternatives are given for the idiom / phrase underlined in the sentence. Choose
the alternative which best expresses the meaning of the idiom / phrase. Comment:

Q. This medicine worked liked a charm and my health has greatly improved.
* Validated By:

O

To be completely successful or effective.

O
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To be helpful

@)
To be healthy

O

To be charming

QueStion(81) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: English Language Set A , Subtopic : English Language Set A):71
* Question Level: Select Level v
Direction : Four alternatives are given for the idiom / phrase underlined in the sentence. Choose
the alternative which best expresses the meaning of the idiom / phrase. Comment:
Q. The role of Priyanka Chopra in a popular series of Quantico was tailor — made for her.
* Validated By:
O
To be completely suitable for someone. Suer
O
To feel more comfortable or relaxed.
O
To make the situation worse.
O
To treat someone.
Question(82) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: English Language Set A , Subtopic : English Language Set A):72
* Question Level: Select Level v
Direction : Four alternatives are given for the idiom / phrase underlined in the sentence. Choose
the alternative which best expresses the meaning of the idiom / phrase. Comment:
Q. Rashi was really in seventh heaven when she got the promotion.
* Validated By:
O
To be nervous and worried. Sup
O
Extremely happy.
O
To prepare for trouble
O
to feel more comfortable and relaxed
Question(83) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: English Language Set A, Subtopic : English Language Set A):73
* Question Level: Select Level v

The given sentence consists of a word or a phrase which is written in capital letters. Four
options are given. Select the word or phrase which is closest to the opposite of the meaning of Comment:
the word in capital letters.

Q. The visit of the Vice — Chancellor has been DEFERRED indefinitely. * Validated By:

® .

ou

Expedited

O

Dissolved

O

Postponed
O
Put off
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Question(84)
(Stream: NCHM NTA Set A, Topic: English Language Set A, Subtopic : English Language Set A):74

Direction : Four alternatives are given for the idiom / phrase underlined in the sentence. Choose
the alternative which best expresses the meaning of the idiom / phrase.

Q. Deepak tried to break the ice, but Hari was little cold.

O

To feel more comfortable or relaxed with a person whom you have not met earlier, to start a
conversation.

O

To be impossible to understand.

O

To be completely suitable for someone.

@)
To be happy.

Question(85)
(Stream: NCHM NTA Set A, Topic: English Language Set A, Subtopic : English Language Set A):75

Direction : In the given sentence a word is written in capital letters. Four options are given from
which antonym is to be found out.

Q. ACCOMPLISH

O

Compel

O
Forgive

@)
Disappoint

O

Accuse

Question(86)
(Stream: NCHM NTA Set A, Topic: English Language Set A, Subtopic : English Language Set A):76

In each of the following questions, out of the given alternatives, choose the one which is nearest
in meaning to the word in sentence.

Q. For a lot of boys in India, becoming a successful cricket star has become an obsession.
Earlier it was a hobby and sometimes passion.

O

Preoccupation
O

Suspicion
O

Frustration

O

Failure

Question(87)
(Stream: NCHM NTA Set A, Topic: English Language Set A, Subtopic : English Language Set A):77

https://nchm.nta.ac.in//bucketing/main.jsp

Current Question Difficulty Level: 1

* Question Level: Select Level v

Comment:

* Validated By:

SUBTTI

Current Question Difficulty Level: 1

* Question Level: Select Level v

Comment:

* Validated By:

QURITI

Current Question Difficulty Level: 1

* Question Level: Select Level v

Comment:

* Validated By:

Current Question Difficulty Level: 1
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Direction : Four words are given, out of which only one word is spelt correctly. Choose the * Question Level: Select Level v
correctly spelt word.

Comment:

O

Ocurencee * Validated By:

O
Ocurrence

O

Occurence

SUBTT

O

Occurrence

Question(88) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: English Language Set A, Subtopic : English Language Set A):78

* Question Level: Select Level v
Direction : Four words are given, out of which only one word is spelt correctly. Choose the

correctly spelt word. Comment:

©)
Nigardly

* Validated By:

O

Nuisence

O

Magnificient

O

Eminent

Question(89)
(Stream: NCHM NTA Set A , Topic: English Language Set A , Subtopic : English Language Set A):79

Current Question Difficulty Level: 1

* Question Level: Select Level v
Direction : Four words are given, out of which only one word is spelt correctly. Choose the

correctly spelt word. Comment:

O

Millionair

* Validated By:

O

Millionnaire

O

Millionaire

O

Milionnaire

Question(90) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: English Language Set A, Subtopic : English Language Set A):80

* Question Level: Select Level v

Direction : Four words are given, out of which only one word is spelt correctly. Choose the
correctly spelt word. Comment:

O

Bureocracy

* Validated By:

O

Burcucracy

O

Bureaucreacy

O
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Bureaucracy

Question(91)
(Stream: NCHM NTA Set A , Topic: English Language Set A , Subtopic : English Language Set A):81

In the given Question one part of the sentence has an error and the other parts of the sentence
are correct. Find which part of the sentence has an error and choose that part as your answer
out of (1), (2) and (3). If the sentence is free from errors then choose your answer as choice (4)

O Everyday new inventions
O are make
O for the good of humanity

O No error

Question(92)
(Stream: NCHM NTA Set A , Topic: English Language Set A , Subtopic : English Language Set A):82

In the given Question one part of the sentence has an error and the other parts of the sentence
are correct. Find which part of the sentence has an error and choose that part as your answer
out of (1), (2) and (3). If the sentence is free from errors then choose your answer as choice (4)

O

| finished my household chores

O

before he reached

O

to my place after so long

O

No Error

Question(93)
(Stream: NCHM NTA Set A , Topic: English Language Set A , Subtopic : English Language Set A):83

In the given Question one part of the sentence has an error and the other parts of the sentence
are correct. Find which part of the sentence has an error and choose that part as your answer
out of (1), (2) and (3). If the sentence is free from errors then choose your answer as choice (4)

O Heis having an attack
O of fever everyday

O for the last few days
O No error

Question(94)
(Stream: NCHM NTA Set A , Topic: English Language Set A , Subtopic : English Language Set A):84

In the given Question one part of the sentence has an error and the other parts of the sentence
are correct. Find which part of the sentence has an error and choose that part as your answer
out of (1), (2) and (3). If the sentence is free from errors then choose your answer as choice (4)

O If the farmer got the washing machine.
O his wife can

O do the laundry quickly

O No Error

Question(95)
(Stream: NCHM NTA Set A, Topic: English Language Set A, Subtopic : English Language Set A):85

In the given Question one part of the sentence has an error and the other parts of the sentence
are correct. Find which part of the sentence has an error and choose that part as your answer
out of (1), (2) and (3). If the sentence is free from errors then choose your answer as choice (4)

O The Tata group owns

O many industries that are spread
O across the globe

O No error

https://nchm.nta.ac.in//bucketing/main.jsp

Current Question Difficulty Level: 1

* Question Level: Select Level v
Comment:
* Validated By:

SUDITI

Current Question Difficulty Level: 1
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Comment:
* Validated By:

OUpT

Current Question Difficulty Level: 1

* Question Level: Select Level v
Comment:
* Validated By:

SUDIT

Current Question Difficulty Level: 1

* Question Level: Select Level v

Comment:

* Validated By:

E—

Current Question Difficulty Level: 1

* Question Level: Select Level v
Comment:
* Validated By:

SUDITT
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Question(96) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: English Language Set A, Subtopic : English Language Set A):86
* Question Level: Select Level v

In the following passage some of the words have been left out. Read the passage carefully and
choose the correct word out of the four alternatives and fill in the blanks: Comment:

Q. We should go doing more good than harm.
* Validated By:

O
On

O
About

O
Above

O
To

Question(97) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: English Language Set A , Subtopic : English Language Set A):87
* Question Level: Select Level v

Direction : In the following passage some of the words have been left out. Read the passage
carefully and choose the correct word out of the four alternatives and fill in the blanks. Comment:

Q. The two families have been engaged in a bitter for the past two decades.
* Validated By:

O

OuURI
Anger

O

Argument

O

Discussion

O
Feud

QueStion(ga) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: English Language Set A , Subtopic : English Language Set A):88
* Question Level: Select Level v

Direction : In the following passage some of the words have been left out. Read the passage
carefully and choose the correct word out of the four alternatives and fill in the blanks. Comment:

Q. The Traditional way of saying that you feel fine is to say that you are
* Validated By:

@)
Alright

OUupT

O

All correct

©)
All good

O
Al right

Question(99) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: English Language Set A, Subtopic : English Language Set A):89
* Question Level: Select Level v

Direction : In the following passage some of the words have been left out . Read the passage
carefully and choose the correct word out of the four alternatives and fill in the blanks. Comment:
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Q. I haven’t seen you a week. * Validated By:

O OURT
Within

O

Since

O

For

O

From

Question(100) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: English Language Set A, Subtopic : English Language Set A):90
* Question Level: Select Level v

Direction : In the following passage some of the words have been left out. Read the passage
carefully and choose the correct word out of the four alternatives and fill in the blanks. Comment:

Q. Once he has signed the agreement, he won’t be able to
* Validated By:

O
Back up

O

Back in

O
Back it

O

Back out

QueStion“ 01) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: GK Set A , Subtopic : GK Set A):91
* Question Level: Select Level v

What device is used to measure the purity of milk?
Y P Y[5aT B AT F AT 5w IuwmRor 1y e war @ 2

O * Validated By:

Comment:

Barometer s
OUBI

R
O

Thermometer

AR
O

Lactometer

AgeIHeR
O

Hydrometer

BIEGHIR

QueStion“ 02) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: GK Set A , Subtopic : GK Set A):92
* Question Level: Select Level v

What was the name of the first Indian Satellite launched in 1975?

Comment:

Y 1975 § YT YUYW HRIH ST HT T 719 Y12

O * Validated By:
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Bhaskara

SUBTTI

HRDHI

O
Aryabhata

3frfre

O
Rohini

gl

O
Apple

Question(103) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: GK Set A, Subtopic : GK Set A):93

* Question Level: Select Level v
Which is the longest epic in the world?

fay &1 A TRTIY P - AT E?

O * Validated By:

Comment:

Bible ot
CIEEE]
O
Ramayana
RTH™IUT

O
Shakuntala

O
Mahabharata

HTHRA

QueStion“ 04) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: GK Set A , Subtopic : GK Set A):94

* Question Level: Select Level v
World’s first test tube baby was born in which country?

farsy o wyw e oyg gy &1 5 {5 32 & garm U2

O * Validated By:

Comment:

India A

SUDI

HRd

o)
USA
9.1

O
England

gis
O

Australia

Sreferar

X
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QueStion“ 05) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: GK Set A , Subtopic : GK Set A):95
* Question Level: Select Level v

Which player of the Indian Women’s Hockey team has been nominated for the “World Games
Athlete of the Year” Award 2019, by the International Hockey Federation (FIH)? Comment:

YRR Afgen gat S Bt 5w et &) SR gie SRR (Tw.31E.79) gR1 99 & fay da
Tydiie RIPR, 2019 & e Tifda forar man @2 * Validated By:

O SaoTm
Richa Rampal
eI

O

Bichu Devi Kharibam
fag 3t wlam

O

Reena Khokhar
RiEIRCICa

O

Rajani Etimaspu

<ot oy

QueStion“ 06) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: GK Set A , Subtopic : GK Set A):96
* Question Level: Select Level v

In which year were commonwealth games held in Delhi (India)?
fereett (v # WgHS Wl $1 St fobw ad # faar mar ar?

O * Validated By:

Comment:

2006 Siedoien

O
2010

O
2014

O
2018

Que5ti°n(1 07) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: GK Set A , Subtopic : GK Set A):97
* Question Level: Select Level v

Which part of the human body gets impaired due to Meningitis?

AT vaR (AR=TSfed) & RO ATG IR BT BIH-AT UFT goel glam 82

O * Validated By:

Joints T

Comment:

Brain and spinal cord
AR T4 AFds
@)

Liver
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Question(108)
(Stream: NCHM NTA Set A , Topic: GK Set A , Subtopic : GK Set A):98

The Prime minister of Britain Stays in which of the following accommodation?

f5ee & wur W FFafafaa & @ g omaw & w8d 82

O
10, Downing Street

10, SRMHTEE
@)
White House
EIECASRE)
@)

Buckingham Palace
Sfem Ty
O

Elysee Palace

oferh ek

Question(109)
(Stream: NCHM NTA Set A , Topic: GK Set A , Subtopic : GK Set A):99

The book “Long walk to freedom” was written by whom?
“ART aTp ¢ WIsH” TP & AP DI 87
@)

Nelson Mandela
g Hear
O
Jawahar Lal Nehru
AR A 5
O
M. K. Gandhi.
& et
O
Bal Gangadhar Tilak

EISKINIPRAGED

Question(110)
(Stream: NCHM NTA Set A , Topic: GK Set A , Subtopic : GK Set A):100

The only satellite of the earth is :
el BT THATT IUUE BI-T1 82
O

Moon
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O
Jupiter

e
®

Saturn

RIE]

Question(111)
(Stream: NCHM NTA Set A, Topic: GK Set A, Subtopic : GK Set A):101

Durand line is the boundary line between which two countries?
S aIE 5 31 3 & offa &5t e v g2
O

India and Pakistan
HRd Td Ulfb&d™
O
India and China
HRA Td I
O

Pakistan and Afghanistan
UIfBE T B
O

India and Afghanistan

YR T BRI

Question(112)
(Stream: NCHM NTA Set A, Topic: GK Set A , Subtopic : GK Set A):102

Reserve Bank of India was established in which year?
YR fYord 9 &) ®ET 759 af # g8 A2

O
1929

O
1935

O
1947

O
1949

Question(113)
(Stream: NCHM NTA Set A , Topic: GK Set A , Subtopic : GK Set A):103

The college of Air warfare is located in which city of India?
HIas 16 TR IREIR YR & o ex § fRa 32

O
Hyderabad

EERIEIC
O
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Coimbatore

PR
@)

Secunderabad
[GETAIEIC
O

Chennai

EEN

Question(114) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: GK Set A , Subtopic : GK Set A):104
* Question Level: Select Level v

Nicolaus Copernicus is known for :
Pretaa siReg fea 89 F w82

O * Validated By:

Comment:

He established that the planets orbited the Sun rather than the earth. ook
31 g R foman T Iuwrs g & goa o § 11 o5 gedt ot

O

First person to reach south pole

T3 Uil Uga- aTdl uyy Afad
O

First person to reach north pole

=1ef Oiet ugEs ard uyw @t
O

Discovery of Greenland and mountains of north pole

1Y Uit & g & 3R el &1 @il

QueStion("s) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: GK Set A , Subtopic : GK Set A):105
* Question Level: Select Level v

What is sea-farming i.e. Cultivation of marine plants and animals for commercial purposes
called? Comment:

Wt-wrifr srufa anforfSue W 8q s el 7 uxpsi @1 Y &) 71 Fed 32
O

Olericulture

MR
@)

Sericulture

JheR
@)

Apiculture
TUpeR
O

Mariculture

IRbeR

* Validated By:

QueStion("G) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: GK Set A , Subtopic : GK Set A):106
* Question Level: Select Level v
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Which is the longest National highway in the country?

A 1 Ha ST AEHY IWHRT P-4 7
@)

NH -4 STt
IS TTemnT - 4

@)

NH -8

IS Tremn - 8

@)

NH - 44

TS o - 44

@)

NH - 49

ST TTeEwT - 49

Comment:

* Validated By:

Question(117) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: GK Set A , Subtopic : GK Set A):107
* Question Level: Select Level v

The newspaper named “Guardian” is published in which country?
«IfSfa TS THERYS 5 3§ UHTRd g1 82

O * Validated By:

Comment:

Britain SuBI
e

O

USA

BRI

India

China

QueStion(118) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: GK Set A , Subtopic : GK Set A):108
* Question Level: Select Level v

The largest desert of the world is :
Comment:
fay &1 a9 T91 TR PH-AT8?
O * Validated By:
Arabian SuBI
SRfeTA
O

Australian

Sahara
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Question(119) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: GK Set A , Subtopic : GK Set A):109
* Question Level: Select Level v

What is the ratio between land surface and water surface of earth?
fay & -8 3R 9a-8= & i BT 3FuTd T 7?2
O * Validated By:
40:60 W
O

71:21

O
29:71

O
49:51

Comment:

QueStion(120) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: GK Set A , Subtopic : GK Set A):110
* Question Level: Select Level v

“Covid Katha” A multimedia guide for Mass Awareness on Covid-19 was launched by the union
minister of science and technology health and family welfare and earth science. Who is the Comment:
science and Technology Minister of India?

o Td vienfiet, T Td TRaR ST e gt I S W gR1 Sifds-19 W o * Validated By:
W%mqﬁrﬁ%mm,ﬁﬁg$mwaﬁn€§|m%ﬁm@ﬁEﬁﬁﬁﬁq
?

O

Ravi Shankar Prasad
RCRCS I
@)
Raj Nath Singh
1 A1y Rig
@)
Harsh Vardhan
RECE
O
Amit Shah
3fha g

QueStion(121) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: GK Set A , Subtopic : GK Set A):111
* Question Level: Select Level v

Which town has been declared as cleanest Ganga town, by Swachh Survekshan Awards 2020,
organized by Ministry of Housing and Urban Affairs. Comment:

ST T X6} ST AT GRT SATAIT T TG0 [REBR 2020 FRT TSSAH T MER & 0 A
fopeht zreR 1 wifva forar maT @2 * Validated By:

0 .

Haridwar

gRER
O

Varanasi

RO
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O
Allahabad

ESIEICS

O
Rishikesh

ESLC

QueStion(122) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: GK Set A , Subtopic : GK Set A):112
* Question Level: Select Level v

Who is the present president of USA?

Y,TH.T & qH Pl B 87

O * Validated By:

Comment:

Donald Trump o pp118

TS T
O

Kamala Harris
A Rka
O

Joe Biden

EIEEE
O

Clinton

feRfes

QueStion(123) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: GK Set A , Subtopic : GK Set A):113
* Question Level: Select Level v

The largest salt water lagoon lake of India among the followings is :
fFPrafafed & & yrd 3t 99 7t THH Ul Ft site e g

O * Validated By:

Comment:

Hussain Sagar, Telangana A

O UWR, ST
O

Vembanad Lake, Kerala
&g 3, HRa

O

Kolleru, Andhra Pradesh
P, 38 T

O

Chilika Lake, Odisha
frae gha, st

Question(124) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: GK Set A , Subtopic : GK Set A):114
* Question Level: Select Level v

Which indian cricket player hit six sixes in one over in a T-20 international match?
o U fEenst A &-20 sierRTPa 79 § Ue oftar A O B9 AT & 2

O * Validated By:

Comment:
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M. S. Dhoni

T

O
Virat Kohli

faRTe Pigat
O

Kapil Dev
Piua g

O

Yuvraj

ATl

Question(125)

(Stream: NCHM NTA Set A, Topic: GK Set A , Subtopic : GK Set A):115

The well known Quote “Saare Jahan Se Achcha Hindustan Hamara” was penned by which

scholar?

FURIS B - “TR o181 ¥ 33T fRged™ guR” F IRAAT A & 2

O

Jawahar Lal Nehru
EEIGGIKERS

O
Mohammed Igbal

TS 3Phara
O

Bal Gangadhar Tilak
e TMER e
O
Bankim Chandra Chatterjee

Sy =g Fesif

Question(126)

(Stream: NCHM NTA Set A , Topic: GK Set A , Subtopic : GK Set A):116

Maharana Pratap was defeated by the Mughal Emperor Akbar in which famous battle?

TS NI HER GIRT TGRIVN YaTy Bt {6 g B WRiSTa fomam wam U1

O
Battle of Panipat

Y BT G

O

Battle of Haldighati
geardd! B g

O

Battle of Plassey
Rt BT

O

Battle of Chausa

ElSIEaRrE
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QueStion(127) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: GK Set A , Subtopic : GK Set A):117
* Question Level: Select Level v

Who wrote the famous line : “A thing of beauty is a joy forever”?

TRy dfdaa - «T i i S} 59 TSR BIRTAR” (A thing of beauty is a joy forever) —
grRIIRa &2

O

John Keats

EREILS]

Comment:

* Validated By:

OURITT

O
Sir Richard Burton

W fas 5

@)
V. S. Naipaul

EIRS U]

©)
Larry Collins

A8 wifer

QueStion(128) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: GK Set A , Subtopic : GK Set A):118
* Question Level: Select Level v

Which country is known as the “Sugar Bow!” of the world?
Comment:

fop T 31 B “IER T S AW | ST €T 82

O * Validated By:

Cuba SULI

USA

R

QueStion(129) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: GK Set A , Subtopic : GK Set A):119
* Question Level: Select Level v

Which scale is used to measure the intensity of an earthquake?
YH F1 T & 7ru F 1T 75 Tue &1 v far e 82

O * Validated By:

Comment:

Metric SuBI

Hifes

O
Centigrade

IS
O

https://nchm.nta.ac.in//bucketing/main.jsp 38/72



8/12/2021 https://nchm.nta.ac.in//bucketing/main.jsp
Richter

IFR
@)

Newton

Sl

QueStion(1 30) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: GK Set A , Subtopic : GK Set A):120
* Question Level: Select Level v

When does solar eclipse take place?

Comment:

T Y51 Ha A1 87

O * Validated By:

When the sun is between Moon and Earth Stk

S g, Tie 3R gedt b Aed 3T 8
@)

When the Earth is between Moon and Sun

S gedt, g @R =ie & e ot &
O

When the Moon is between Sun and Earth

S die, g 3R gedt & e amar g
O

When the Moon does not lie on the line joining the Sun and Earth

ST TG, U 3R g P e arelt 3@ H eT el §

Ques':ion“ 31) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: Numerical Ability Set A , Subtopic : Numerical Ability Set A):121
* Question Level: Select Level v

Which of the following is divisible by 13.

fFrafafEa & § - 9= 13 @ faursa 82

O * Validated By:

Comment:

91

7))

O
94

O
9

O
99

QueStion“ 32) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Numerical Ability Set A , Subtopic : Numerical Ability Set A):122
* Question Level: Select Level v

Simplify : 7777 + 777 + 77 + 7

TRIAPRVI PN : 7777 + 17T+ 7T+ 7 :

O * Validated By:

Comment:

8368

7))

O
8638

O
8748
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O
8858

Question(133)

Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Numerical Ability Set A , Subtopic : Numerical Ability Set A):123

* Question Level: Select Level v
Find the average of the following set of scores : 105, 235, 326, 422

N Comment:
frafifEd sl & THg o1 3iTd Ta1ST : 105, 235, 326, 422

O * Validated By:

222 SUDIT

O
232

O
252

O
272

Question(134)
(Stream: NCHM NTA Set A, Topic: Numerical Ability Set A , Subtopic : Numerical Ability Set A):124

Current Question Difficulty Level: 1

* Question Level: Select Level v
Ramesh brought 15 magazines for Rs. 30 from one shop and 25 magazines for Rs. 38 from
another. What is the average price he paid per magazine ?

AT A TH P A 30 TUY P 15 URHTE TN 3R P W 25 YT Y 38 WHBTE @ |
ISP GRT YA $1 78 i ufiet o1 e gea w82 * Validated By:

Comment:

O SUoTN
Rs. 3

330U
O
Rs. 33

33>U¢

Rs. 35

35%U¢

Rs. 37

37>U¢

Question(135)
(Stream: NCHM NTA Set A, Topic: Numerical Ability Set A , Subtopic : Numerical Ability Set A):125

Current Question Difficulty Level: 1

* Question Level: Select Level v

Find a number such that when 7 is subtracted from 3 times the number, the result is 9 more than
twice.

U W gy, i 3 T H A 7 FY gem R aRonT 39 WRn F g 9 3w giar gl

O
10

Comment:
* Validated By:
OUpT

O
12

O
14
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Question(136)

https://nchm.nta.ac.in//bucketing/main.jsp

(Stream: NCHM NTA Set A, Topic: Numerical Ability Set A , Subtopic : Numerical Ability Set A):126

The sum of the squares of two positive integers is 130 and the difference of their squares is 32.

The sum of the number is

Y YT QUITHT & a¥ll BT TRTBA 130 @ 3R SHP aif BT 3R 32 §1 3 3(P| BT GBS FT G2

O
13

O
14

O
15

O
16

Question(137)

(Stream: NCHM NTA Set A , Topic: Numerical Ability Set A , Subtopic : Numerical Ability Set A):127

Evaluate : 80% of 480 + 25% of 640

TRITHT PN : 480 BT 80% + 640 FT 25% :

O
444

O
544

O
644

@)
744

Question(138)

(Stream: NCHM NTA Set A, Topic: Numerical Ability Set A , Subtopic : Numerical Ability Set A):128

The present population of the villages is 6200. If the number of males increases by 12% and the
number of female increases by 16%, then the population will become 7072. What is the present

population of females in the village ?

wmaﬁa'chmwszoo%uﬁwﬁaﬂmmzuﬁﬂmﬂﬁq@@?ﬁ%aﬁ?ﬂﬁmﬁaﬁ
T ¥ 16 wfo=ra &Y gfG gl 8, @ SFwiRe 7072 B Wit | 39 id ® ufgarei & adu sHaen

T E?

O
3200

O
3300

O
3400

O
3500
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* Question Level: Select Level v

Comment:

* Validated By:

Current Question Difficulty Level: 1

* Question Level: Select Level v

Comment:

* Validated By:

Current Question Difficulty Level: 1
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QueStion“ 39) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Numerical Ability Set A , Subtopic : Numerical Ability Set A):129
* Question Level: Select Level v

Sarla invests Rs. 97,200 which is 18% of her annual income, in fixed deposits. What is her
monthly income ? Comment:

AT A I ST @Td 7 97,200 YT BT 9= fhar 2, S IS a1ffep 37 o7 18 ufawrd 21 STPt
e 3ma T 8?2 * Validated By:

O SUBM
Rs. 50,000
50,000 ¥4y

O
Rs. 45,000
45,000 ¥UT

O
Rs. 40,000
40,000 >Uuq

O
Rs. 35,000

35,000 ®JU

QueStion(140) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: Numerical Ability Set A , Subtopic : Numerical Ability Set A):130
* Question Level: Select Level v

100 bananas are bought at rate of Rs. 400 and sold at the rate of Rs. 60 per dozen. The
percentage of profit or loss is Comment:

100 FA 400 FUY eI TR WIS W14 & 3R I 60 TUY Ui goi- BT o3 | =1 oIraT &1 39 a1y a1

g1 &1l | 82 * Validated By:

O SURM
10% gain
10% Jfar=Id amH

O
25% gain
25% W= Ay

O

10% loss

10% Tfcr=Id g1+
O

25% loss

25% Ufer<rd g1

Question(141) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Numerical Ability Set A , Subtopic : Numerical Ability Set A):131
* Question Level: Select Level v

Aman buys an article for 20% less than its value and sells it for 20% more than its value. His gain
or loss percent is Comment:

3T TH TG B TS T | 20% FF T TR Wil & 3R I avg B 3qF Ge4 F 20% D
e IR ST 8 | SHST ATH T g1 Ui=Id o1 872 * Validated By:

O SUBMm
no profit, no loss

PIg A, BIS B a1

O
less than 25% profit
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25% 3 & AH

O

more than 25% loss

25% 3 3HfF g
@)
50% profit

50% <Y

Question(142)
(Stream: NCHM NTA Set A, Topic: Numerical Ability Set A , Subtopic : Numerical Ability Set A):132

A man spends a part of his monthly income and saves a part of it. The ratio of his expenditure to
his savings is 16 : 3. If his monthly income is Rs. 28500, what is the amount of his monthly
savings?

T IfRT U=t ATRIS 3T BT TH YRT 0T BT & 3R Teh W T2d a1 8| SHP o7 3R T BT
3UT 16 : 3 §1 TS TS WIRYP 31T 28,500 FUT B, ol SHD! ATRYD a1 AT 4T gRAN|

O

Rs. 4,000

4,000 39T
O

Rs. 4,500

4,500 3¢
O

Rs. 5,000

5,000 ¥UT
O

Rs. 5,500

5,500 »Uq

Question(143)
(Stream: NCHM NTA Set A, Topic: Numerical Ability Set A , Subtopic : Numerical Ability Set A):133

Two numbers x and y are in the ratio 8 : 9 and their sum is 34. Then x is
G 3 x 3R y BT 3T 8 : 9 7 3R ITHT AITH 34 8, T x BT 3P FT 8?2
O

10

O
12

O
14

O
16

Question(144)
(Stream: NCHM NTA Set A , Topic: Numerical Ability Set A , Subtopic : Numerical Ability Set A):134

The ratio of ages of father to son is 13 : 2. Eighteen years the ratio of their ages will be 2 : 1
respectively. What is son’s present age?

oraT SR O F} 3T BT STUTT 13 : 2 81 18 T F YT SAD! 3TY BT TUT HUM: 2 : 1 G TA BT
A SR FT 3?2

O
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4 years

49y
@)

6 years

XL
O

8 years

8 ¥
@)

10 years

10 8

Question(145)
(Stream: NCHM NTA Set A, Topic: Numerical Ability Set A , Subtopic : Numerical Ability Set A):135

Ram and Shyam can plough a field in 12 days. Shyam alone can plough the field in 18 days. In
how many days will Ram alone plough the field?

I 3R TATH TH Bd 1 a8 12 A F & Tod &1 W 3Fd 39 Wd B Jars 18 - A w2
Tl 8| I 3rPpd fpan fo=il & 50 T B Jar1s HEM?

O
24 days
24f&q
O
28 days
28 fea
O
32 days
32feq
O
36 days
36 fad

Question(146)
(Stream: NCHM NTA Set A , Topic: Numerical Ability Set A , Subtopic : Numerical Ability Set A):136

A train running at the speed of 60 km/hr crosses a pole in 9 seconds. What is the length of the
train ?

TP YS! TP UId Y 60 fHHY / 5 Y 7fd F 9 hs A UR Bl §1 39 YS! B waTg a1 B
@)
150 m
150 Hiex
@)
180 m
180 Hiex
O
210m
210 e
(@)
240 m
240 e
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* Question Level: Select Level v

Comment:

* Validated By:
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Comment:
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Question(147)
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(Stream: NCHM NTA Set A, Topic: Numerical Ability Set A , Subtopic : Numerical Ability Set A):137

A train of length 350 m takes 96 seconds to cross a tunnel of length 450 meters. What is the

speed of train in km/hr?

350 HieR wefl AT 450 Hex Tl I BT 96 Vs W UR Sl & 1 37 JeNS! Bt fapelt / ger & i

AR

O
20

O
25

O
30

O
35

Question(148)

(Stream: NCHM NTA Set A, Topic: Numerical Ability Set A , Subtopic : Numerical Ability Set A):138

The speed of the boat when travelling downstream is 38 km/hr, whereas when travelling
upstream it is 32 km / hr, what is the speed (in km / hr) of boat in still water ?

TS Td STavare &1 fomm & 38 el / 98 1 e @ wardt ], Srafe ag =19 wavare @t faudia fen &
32 fpft / 9 &t iy @ ot 81 FRR o/ o 337 19 $1 wife (et / ©e) o gt

O
33

O
34

O
35

O
36

Question(149)

(Stream: NCHM NTA Set A , Topic: Numerical Ability Set A , Subtopic : Numerical Ability Set A):139

A boatman rows 2 km in 4 minutes, along the stream and 6km in 30 minutes against the stream.

The speed of the stream is

TS A1fae STayare &1 fmm § 4 fimre # 2 {5 A9 Tarar & 8fiR Savare &1 faudia fa=m # 30 e

¥ 6 forrit A1a TreiTar 81 TBT YR B Afd | R?

O
3 kmph

3 foeit of der
O

6 kmph

6 faeit uf der
O

9 kmph

o faeit ufy der

O
12 kmph

https://nchm.nta.ac.in//bucketing/main.jsp

Current Question Difficulty Level: 1

* Question Level: Select Level v

Comment:

* Validated By:

Current Question Difficulty Level: 1

* Question Level: Select Level v

Comment:

* Validated By:

Current Question Difficulty Level: 1

* Question Level: Select Level v

Comment:

* Validated By:

4572



8/12/2021 https://nchm.nta.ac.in//bucketing/main.jsp
12 o et Uit diet

Question(150)
(Stream: NCHM NTA Set A, Topic: Numerical Ability Set A , Subtopic : Numerical Ability Set A):140

Current Question Difficulty Level: 1

* Question Level: Select Level v

8% Comment:
In how many years will a sum of money double itself at simple interest per annum?

* Validated By:
1

8%

T =R, ufaad 8 ufe=ra 3 F HIYRO AT o} W fora auf & g gift? SuoTT
O

8 years

8 g
O

12 years

1299
O

16 years

16 I8

O
20 years

20 9%

Question(151)
(Stream: NCHM NTA Set A , Topic: Numerical Ability Set A , Subtopic : Numerical Ability Set A):141

Current Question Difficulty Level: 1
* Question Level: Select Level v
§_%

At the rate of 2 p-a simple interest, a sum of Rs. 4800 will earn how much interest in 3
years?

Comment:

* Validated By:
gl

2 yferera yfad 3 WIUROT SIS &% TR 4800 YT B TR i qel § Rparr sarer Sk sai?
O
Rs. 876
876 JUY
O
RS. 1026
1026 ¥UT
O
Rs. 1148
1148 3T
O
Rs. 1124

1124 34U

Question(152)

Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Numerical Ability Set A , Subtopic : Numerical Ability Set A):142

* Question Level: Select Level v
10 =425+ 4108 + 4154 = +/225 - Comment:

The value of is
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* Validated By:

10 + 425+ 4108 + 4154 + 4225 -
wram E—

10

Question(153) Current Question Difficulty Level: 1

(Stream: NCHM NTA Set A, Topic: Numerical Ability Set A , Subtopic : Numerical Ability Set A):143
* Question Level: Select Level v

E_ i:'? Comment:
4 Y5

* Validated By:

Question(154) Current Question Difficulty Level: 1

(Stream: NCHM NTA Set A , Topic: Numerical Ability Set A , Subtopic : Numerical Ability Set A):144
* Question Level: Select Level v

If the length of a rectangle is increased by 10% and it’s breadth is decreased by 10%, the change
in its area will be Comment:

Ife T 3T &1 waTs | 10 Ufa=rd 31 g 3R st A 10 wfo=ra 1 HH o1 9 € Y, 39S
A d § w1 aikad g

O SUD

1% increase

1% (G
O

1 % decrease

1 % HH

* Validated By:

O

10% increase

10% qf&
O
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No change
HI aRad et
QueStion“ 55) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: Numerical Ability Set A , Subtopic : Numerical Ability Set A):145
* Question Level: Select Level v
The cost of copyright a room long with a carpet 75 cm wide at Rs. 4.50 per meter is Rs. 810. The
breadth of the room. Comment:
18 Hiex da Y # 4.50 $UT Ufd Hiex B R I 75 R IS BIei B @M $1 AT 810 YT
21 39 F B qaTS A3 * Validated By:
O Saomm
7m
7.
O
7.5m
7.54.
O
8m
g .
O
8.5m
8.5 .
Que5ti°n(1 56) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: Numerical Ability Set A , Subtopic : Numerical Ability Set A):146
* Question Level: Select Level v
Study the bar diagram given below carefully and answer the following questions based on it.
Comment:
Birth Rate in Different Countries
* Validated By:
5T SaoT
S0+
= 45T 40
g 401 nl
o 351 33
= 30 el
g 30T —
w251
A 20
g 20+
15 = 16
£ 15+ &
£ L= ]
3 z| (& & & |£| |8
o
Countries |

The birth rate of which country is 253% more than that of Bhutan?
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TR T T IRITIRE BT AFYd® AT Y R IqP MUR TR Fafifad usl & s S

fafi &=t # wree

55
50T
45+
40+
35+
30+
25+
20T

Lrd
Lrd

T g9 781

4 B

fora 3w &1 T R o &1 wee ¥ 25 viowa Sifis 27

O

Pakistan

Bangladesh

e

Question(157)

(Stream: NCHM NTA Set A , Topic: Numerical Ability Set A , Subtopic : Numerical Ability Set A):147

Study the bar diagram given below carefully and answer the following questions based on it.

Birth Rate in Different Countries
55T
50T
o 45T 4o
5 a0 s
(=] 4
& 2 30 2
5 30+ —
p=3
w25+
% 20 20
= T 15 |a 16
£ 15T £ .
Eol 1[4 B fel Jg .
1 [ - = ] e =
5 z| & & |2 |E] |
8]
Countries

The birth rate of Pakistan iz what percent of birth rate of Nepal?

TR T T IRITIRE BT AFYE® AT Y R IqP YR TR FafifEd us & sw S
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fafim 2=t # wee
55+
50+
as-+
404 40
E%" 30 EE2
30+ —
525: 20
20 '5 16
€ 154
10+
0
o
TIfehed &1 L, JUTd &1 oY &1 71 Hia9d &7
@)
165%
O
155%
O
140%
@)
100%
Question(158)

(Stream: NCHM NTA Set A , Topic: Numerical Ability Set A , Subtopic : Numerical Ability Set A):148

Study the bar diagram given below carefully and answer the following questions based on it.

Birth Rate in Different Countries
55 T
S50
= 45T 40
§ 404 al
[} 4
g 3 30 >
5 30+ —
f= T
v 25+
% 20 20
= T 15 16
Fol L[ R L
il B . g 2 = g
5 z| & & |2 & |5
0
Countries

The birth rate of India 15 how many times the birth rate of Bhutan?

R R T IR BT AFYE® AT Y R IqP MUR TR FrafifEd ust & Sw S
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55+
50
45
40—+ o
35+ 33
30+ —
25+
20 >

i
&

HR &1 THEY, YEH & e | fard T 41 S 87

O g9 81

Question(159)
(Stream: NCHM NTA Set A , Topic: Numerical Ability Set A , Subtopic : Numerical Ability Set A):149

Study the bar diagram given below carefully and answer the following questions based on it.

Birth Rate in Different Countries

551
501
45
401 nt
35+ 33
30+
25+
20+
15
10+

| el
[
|

Birth rates per thousand

Laria
Bangladesh

g
=
=)
=]

Pakistan
India

Countries

What 1s the ratio of birth rates of Pakistan to Sr1 Lanka?

R fRE T IRIWIRE BT Y S B3 3R ITP MUR TR FHaferiEd usi & swe €1
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fafire <= # ey

16

St 8 e 8

EEl
e AR sficiepT BT TER BT U 1 2?

Question(160)
(Stream: NCHM NTA Set A , Topic: Numerical Ability Set A , Subtopic : Numerical Ability Set A):150

Study the bar diagram given below carefully and answer the following questions based on it.

Birth Rate in Different Countries

55
50
45
40+ =
35+ 33
30+ —
25+
20+
15T
10+

Birth rates per thousand

Latika
Bangladesh

g
=
=
=]

Pakistan
India

Countries

By how much percent is the birth rate of Nepal less than the barth rates of Bangladesh?

A fRT T IRIWRET BT AFgdS Sraeie B 3R Iqd YR TR FHaferEa usl & swv &1
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fafim g=if & o e
55T
50T
ol 40
40+ —
35+ 33
30 —
30+ ]
25T
E 20 20
15 16
dé 15—
10—+
8]
T 1 o oR, ST &1 et § fdar wited FH 7
O
30%
O
33 1%
3
O
45%
O
50%
Question(161) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: Reasoning and logical education Eng Set A , Subtopic : Reasoning and logical education Eng Set A):151
* Question Level: Select Level v
Number series with one term missing. Choose the correct alternative from given options 1, 9, 25,
?,81,121 Comment:
39 3 4T § U 3 Rad g1 -1 fou e faweul & | W€t fawey d1999 #¥1 1, 9, 25, 2, 81,
121 * Validated By:
O
64
O
36
O
91
O
49
QueStion“ 62) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Reasoning and logical education Eng Set A , Subtopic : Reasoning and logical education Eng Set A):152
* Question Level: Select Level v
In the following question one item in the number series is wrong. Find out the wrong item.3, 5,
15, 75, 1125, 20000 Comment:
3 3P AT & TP 3 Tad 21 12 3y e el & @ Wl fawew &1 999 11 3, 5, 15, 75, 1125,
20000 * Validated By:
O SUBT
3
O
15
O
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O
20000

QueStion(163) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Reasoning and logical education Eng Set A , Subtopic : Reasoning and logical education Eng Set A):153

* Question Level: Select Level v
If BIBLIO is coded as BIBOIL and NEARER as AENRER, then ALIGATOR will be coded as
Comment:

Tfe BIBLIO HT ®1S BIBOIL & 31X NEARER T %S AENRER ! ALIGATOR &1 %18 F4T §R11?

O * Validated By:
ROTAALIG SuRI

O
ALIGROTA

O
GILAROTA

O
GILAATOR

QueStion(164) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Reasoning and logical education Eng Set A , Subtopic : Reasoning and logical education Eng Set A):154
* Question Level: Select Level v

In a certain language, BRIDE is coded as APEZZ, then which word would be coded as LKUMB
Comment:

T fAf3d HT9T #, BRIDE &7 %S APEZZ ® T S HTUT # LKUMB XTec &1 $1S T §RM1?

O * Validated By:
MMXQG SUBI

O
MLVNC

O
KIRIW

O
KJTLA

Question(165) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Reasoning and logical education Eng Set A , Subtopic : Reasoning and logical education Eng Set A):155
* Question Level: Select Level v

Introducing a man, a woman said, “He is only son of my mother’s mother.” How is the woman
related to the man? Comment:

T AR &1 URTd FRI4 U U ARAT Fedl 8, “dg B 07 1 | $1 UHaE I 37 39 aiear 189
e & 1 "6y 87 * Validated By:

O Saor
Mother
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Niece

Heftsit

Question(166) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Reasoning and logical education Eng Set A, Subtopic : Reasoning and logical education Eng Set A):156
* Question Level: Select Level v

Pointing to a photograph, a person tells his friend, “she is grand daughter of elder brother of my
father. “How is the girl in the photograph related to this man? Comment:

TS BIRIUTG &Y JEHT U iR 3 fird &Y el 8, «dg W a1 & a8 urd 91 0t 317 Biehe
ﬁmﬁwm%mwwg %? * Validated By:
@) Sieteri

Sister

Sister —in — law
AR
O

Niece

Hclteit

Question(167) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Reasoning and logical education Eng Set A , Subtopic : Reasoning and logical education Eng Set A):157
* Question Level: Select Level v

ABCDEFGHIJKLMNOPQRSTUVWXY ZWhich letter is exactly midway between F
and R in the alphabet series? Comment:

ABCDEFGHIJKLMNOPQRSTUVWXY Z Juishd %Raem & I AT 3&R F 3R R & S5

mm?f%? * Validated By:

O OURITT
K

Question(168) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: Reasoning and logical education Eng Set A, Subtopic : Reasoning and logical education Eng Set A):158
* Question Level: Select Level v

ABCDEFGHIJKLMNOPQRSTUVWXY ZWhich letter is fifteenth to the right of the
letter which is fourth to the left of | ? Comment:

ABCDEFGHIJKLMNOPQRSTUVWXY Z3{&R | ®1 ardff 3R ¥ A 31eR & gl ik
Uggdi 3&R B 1 8? * Validated By:

O Suprm
T
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S

O

Question(169) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Reasoning and logical education Eng Set A , Subtopic : Reasoning and logical education Eng Set A):159
* Question Level: Select Level v

4,8, 16, 32, 64, ? , 256, 512

Comment:
O

128 * Validated By:

O Saormt
127

O
126

O
132

Question(170) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: Reasoning and logical education Eng Set A , Subtopic : Reasoning and logical education Eng Set A):160
* Question Level: Select Level v

6,9,12, 15,18, ?
Comment:

O

20 * Validated By:
O STom
21

O
22

O
23

Question(171) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: Reasoning and logical education Eng Set A , Subtopic : Reasoning and logical education Eng Set A):161
* Question Level: Select Level v

Introducing Usha to the guests, Piyush said, “Her father is the only son of my father.” How is
Usha related to Piyush? Comment:

A A S BT IR Hd g, gy Fedr @ & «gad far 3 frar & goas @ 817 St ik
gy &1 T TaY 82 * Validated By:

O SupIit
Mother

Daughter

Coil
O

Niece

Heltoit
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QueStion(172) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: Reasoning and logical education Eng Set A , Subtopic : Reasoning and logical education Eng Set A):162
* Question Level: Select Level v

Introducing a man, Murali said, “His wife is the only daughter of my wife.” How is Murali related
to that man? Comment:

s afed 1 gy B ¢ TRelt off Fgd @ % “Iaat uell B8 uelt 3t grams Tt 317 TRt &1 39
fed & Y w1 G 272 * Validated By:

O SUBITI
Father
foran

O

Son

a1

O
Grandfather
alal

©)

Father-in-law

IR

Question(173) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: Reasoning and logical education Eng Set A, Subtopic : Reasoning and logical education Eng Set A):163
* Question Level: Select Level v

o] X | | Comment:

* Validated By:
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QueStion(174) Current Question Difficulty Level: 1

(Stream: NCHM NTA Set A, Topic: Reasoning and logical education Eng Set A , Subtopic : Reasoning and logical education Eng Set A):164
* Question Level: Select Level v

LA . Comment:
\ / < ?
AN .
1 * Validated By:
O

Question(175) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Reasoning and logical education Eng Set A , Subtopic : Reasoning and logical education Eng Set A):165
* Question Level: Select Level v

Arrange the words in a meaningful sequence and then choose the most appropriate sequence
from among the alternatives provided (A) Wax (B) Bee (C) Honey (D) Flower Comment:

i fou U wree! P Sryuf pu W syafRua ¥ 3R FFuferied fawel & @ walfies Suged w0 &1
T B | (A) HIF (B) HYHSRAT (C) X5E (D) TA * Validated By:

O ST
B,A C,D

O
D,B,C A

O
D,C,B,A

©)
C.D,B A

QueStion(176) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: Reasoning and logical education Eng Set A, Subtopic : Reasoning and logical education Eng Set A):166

* Question Level: Select Level v
Arrange the words in a meaningful sequence and then choose the most appropriate sequence
from amongst the alternatives provided A. - Pulp, B. - Jungle, C. Paper, D. - Timber, E. - Book
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2 T Ty <reat w1 3rfyut svu § wafRa 3¢ ok Fafiiad el # 3 waifte Suged w1 &1
TG BN A. - Y, B. - S, C. - HTIA, D. - ThS], E. - (&5

Comment:

@) * Validated By:

B,A,D,C,E mgrEm

O
C.E,AD,B

O
D,B,A CE

O
B,D,A C,E

Question(177) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Reasoning and logical education Eng Set A, Subtopic : Reasoning and logical education Eng Set A):167
* Question Level: Select Level v

Arrange the words in a meaningful sequence and then choose the most appropriate sequence
from among the alternatives provided A. — Doctor, B. — Fever, C. — Prescribe, D. — Diagnose, E. — Comment:
Medicine

i fow 7T 2rea) @Y 3rfyul v B safRia w3 iR A faw e fwent § | waifie Suged s a1 * Validated By:
T BV A. - Fafpe®, B. - SR, ¢. - If¥pwm, p. - feM, E. - 3iudh W

O
A,D,C,B,E

O
B,A C,D,E

O
B.A,D,C,E

O
B,D,C,E A

Question(178) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Reasoning and logical education Eng Set A, Subtopic : Reasoning and logical education Eng Set A):168
* Question Level: Select Level v

Choose the alternative which most closely resembles the mirror — image of the given word.
WHITE Comment:

Frrafafaa & @ 39 faee o1 o= &3¢ i R foT 71T 2reg &1 odor ufafaa &1 WHITE

O
J1IHW

* Validated By:

OUPT

ELTHAM

©)
HTIHM

O
TIHW

Question(179) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: Reasoning and logical education Eng Set A , Subtopic : Reasoning and logical education Eng Set A):169
* Question Level: Select Level v

Choose the alternative which most closely resembles the mirror — image of the given word.
START
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fraffEd & 3 39 fawer o1 997 o1 St 9 3w 7 wreg &1 gdur ufafda 81 START

O
SIAML

Comment:

* Validated By:

2TAAT

2TVRT

SIVRL

Question(180) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Reasoning and logical education Eng Set A, Subtopic : Reasoning and logical education Eng Set A):170
* Question Level: Select Level v

Choose the alternative which most closely resembles the mirror-image of the given world. SUN
a3 3 fawey o1 997 o3 St -4 fAw 7 =1 %1 gdur ufafda 81 SUN

@) * Validated By:

Comment:

2UK SuRr

SN

201H

SUM

Question(181) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: Reasoning and logical education Eng Set A , Subtopic : Reasoning and logical education Eng Set A):171
* Question Level: Select Level v

Find out the odd among the four :
Frafafed & 9 999 o1 999 $Y)

O * Validated By:

Comment:

Patna SUuBI

Ahmedabad

SfgHalslq
O

Dehradun
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g

Question(182) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Reasoning and logical education Eng Set A , Subtopic : Reasoning and logical education Eng Set A):172
* Question Level: Select Level v

Find out the odd among the four :
Frafafea & & 99« o1 999 31

O * Validated By:

Comment:

Arrow e
o011

Bullet

O
Sword

Question(183) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: Reasoning and logical education Eng Set A , Subtopic : Reasoning and logical education Eng Set A):173
* Question Level: Select Level v

Find out the odd among the four :
Fafafea & & 98a &1 999 B

O * Validated By:

Comment:

Hands DI

&Ll

Legs

Nose

Question(184) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: Reasoning and logical education Eng Set A , Subtopic : Reasoning and logical education Eng Set A):174
* Question Level: Select Level v

What is the next term in the series

Comment:

FEVU, IHSR, LKPO, ONML
frafafea sa A srrem %I * Validated By:
FEVU, IHSR, LKPO, ONML

A nn
QUPITITIL

O
QPPH

O
RQJI
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O
POQK

O
LROI

Question(185) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Reasoning and logical education Eng Set A, Subtopic : Reasoning and logical education Eng Set A):175
* Question Level: Select Level v

What is the next term in the series

Comment:
P, T,XB,F
frrafefada wa & snrem w1 &1 * Validated By:

P,T,XB,F

Suom
®
|

Question(186) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Reasoning and logical education Eng Set A , Subtopic : Reasoning and logical education Eng Set A):176
* Question Level: Select Level v

There is a certain relation between two given words on one side of : : and one word is given on
another side of : : While another word is to be found from the given alternatives, having the Comment:
same relation with this word as the given pair has . Select the best alternative.

Himachal : Nati : : Kerala: ? * Validated By:

A : : A g Ru e & wsd) & e v i ey 8151 ;& veia v wes e man @ emuet -
DT g Xeg W & RresT 98t Tae g1 o) uga &) Freal #1371 Stor

fenmae : PR 2
O

Bharatnatyam

WRAATEH

O

Kathak

HUG

O
Kuchipudi

gl

O
Kathakali

HYPHA

Question(187) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Reasoning and logical education Eng Set A , Subtopic : Reasoning and logical education Eng Set A):177

* Question Level: Select Level v
There is a certain relation between two given words on one side of : : and one word is given on
another side of : : While another word is to be found from the given alternatives, having the Comment:
same relation with this word as the given pair has . Select the best alternative.

Moon : Satellite : : Earth : ? * Validated By:
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Frafufea »a & 98 Rea sraaa 31 L o
GGAT : SUUG : : G4t : ?
O

Planet

Solar system

TR yorTelt

QueStion(188) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A, Topic: Reasoning and logical education Eng Set A, Subtopic : Reasoning and logical education Eng Set A):178
* Question Level: Select Level v

Simran walks 12 km towards North. From there she walks 8 km towards South. Then she walks 3
km towards East. How far and in which direction is she with reference to her starting point ? Comment:

R IR @t 3% 12 ol =t 1 9wt @ 9w 8 fptht gfRor &t 3k gadt 81 39% a1g a8 3 foveht od
P 3R T 81 3 RIS faig | % fram ot gr ok fopm fR=m A @2 * Validated By:

0 mw—m
5 km East

5 faeit ofR gd

O
7 km East

7 foreft ofR od

O
5 km North — East

5 faeit 3R gafR

@)
7 km North — East

7 foeit 3R gafR

QueStion(189) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Reasoning and logical education Eng Set A, Subtopic : Reasoning and logical education Eng Set A):179
* Question Level: Select Level v

In each of the following questions, arrange the given words in the sequence in which they occur
in the dictionary and then choose the correct Sequence. Comment:

A. Wound B. Writer C. Whiter D. Worst E. Worked

FrafafaT yae uy 8, IRgd Tl B 39F TgHIy F 1A & HH F IR Fafeud H¥ 3 1 few
T fael # & €t fidpeq &1 9a= BI| L o

A. Wound B. Writer C. Whiter D. Worst E. Worked

O
A/D,CEB

O

B,A,C,D,E

O
C.E,D,A B

* Validated By:

https://nchm.nta.ac.in//bucketing/main.jsp 63/72



8/12/2021 https://nchm.nta.ac.in//bucketing/main.jsp

O
E,C,B,A D
Question(190) i i i i i i ) ) Current Question Difficulty Level: 1
(Stream: NCHM NTA Set A , Topic: Reasoning and logical education Eng Set A , Subtopic : Reasoning and logical education Eng Set A):180
* Question Level: Select Level v
You are requested to construct a word from the letters given below. Each letters are numbered
and each word is followed by four options. Choose the option which gives the correct order of Comment:
the letters as indicated by the numbers to form a word.
TRFUI * Validated By:

12345 —

3Tyt 1= 3T 7T 31eRY # | T Weg o1 A0 BT 81 TS &R P U 3 UM a1 Tar g
3R U g P 19 IR fAPey feT 7T ¥ 2ree F FPmfor & fore i faw 7w ofe) & @ 39 faseu &1
T DY S 3R P WL 55U B UG Bl &

TRFUI
12345

(©)
12345

(@)
2,4,3,5,1

©)
3,4,2,5,1

(©)
3,2,4,5,1

Question(191)
(Stream: NCHM NTA Set A, Topic: English Language Set A, Subtopic : English Language Set A):181

Current Question Difficulty Level: 1

* Question Level: Select Level v
Direction : Four words are given, out of which only one word is spelt correctly.

Comment:
Choose the correctly spelt word.

O * Validated By:

Satteite R
O
Satalite

O
Sattelit

O
Satellite

Question(192)
(Stream: NCHM NTA Set A, Topic: English Language Set A, Subtopic : English Language Set A):182

Current Question Difficulty Level: 1

* Question Level: Select Level v
Direction : Read the following passages carefully and answer the questions that follow.
C it:
Stammering is a habit disorder linked with lack of self confidence. Basically for a child to ommen
understand a language, there are four stages. The first is learning to understand the spoken
language and the second is speaking. Both of these develop around age of two years. * Validated By:
The third stage is speaking complex sentences, which develops at around 3rd and 4th i.e. when m

the child recognizes the written alphabet. In 80% of children while the 3rd & 4th stage are at play,
the first two get disturbed as something new is being incorporated in the mind.

This is absolutely normal. But what over cautious mothers do is fret a lot and the child develops
fear which later manifests itself as stammering. In fact, most text books on stammering state in
bold that “Had there not been any over cautious mothers, hardly anyone would have suffered
from stammering.” Fluency can be incorporated in the speech of such patients through
hypnosis.

Stammering is caused because of
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@)

physical disorder

O
hindered growth

(©)

lack of self-confidence

(@)

lack of understanding

Question(193)

(Stream: NCHM NTA Set A, Topic: English Language Set A, Subtopic : English Language Set A):183

Direction : Read the following passages carefully and answer the questions that follow.
Stammering is a habit disorder linked with lack of self confidence. Basically for a child to
understand a language, there are four stages. The first is learning to understand the spoken
language and the second is speaking. Both of these develop around age of two years.

The third stage is speaking complex sentences, which develops at around 3rd and 4th i.e. when
the child recognizes the written alphabet. In 80% of children while the 3rd & 4th stage are at play,
the first two get disturbed as something new is being incorporated in the mind.

This is absolutely normal. But what over cautious mothers do is fret a lot and the child develops
fear which later manifests itself as stammering. In fact, most text books on stammering state in
bold that “Had there not been any over cautious mothers, hardly anyone would have suffered
from stammering.” Fluency can be incorporated in the speech of such patients through
hypnosis

The second stage of a child’s understanding the language is
O

speaking

O

writing

O

listening

(©)

reading

Question(194)

(Stream: NCHM NTA Set A , Topic: English Language Set A , Subtopic : English Language Set A):184

Direction : Read the following passages carefully and answer the questions that follow.
Stammering is a habit disorder linked with lack of self confidence. Basically for a child to
understand a language, there are four stages. The first is learning to understand the spoken
language and the second is speaking. Both of these develop around age of two years.

The third stage is speaking complex sentences, which develops at around 3rd and 4th i.e. when
the child recognizes the written alphabet. In 80% of children while the 3rd & 4th stage are at play,
the first two get disturbed as something new is being incorporated in the mind.

This is absolutely normal. But what over cautious mothers do is fret a lot and the child develops
fear which later manifests itself as stammering. In fact, most text books on stammering state in
bold that “Had there not been any over cautious mothers, hardly anyone would have suffered
from stammering.” Fluency can be incorporated in the speech of such patients through
hypnosis

Fluency can be incorporated in the speech of such patients through

(©)

hypnosis

(@)

slap

(©)

punishment

(©)
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Current Question Difficulty Level: 1

* Question Level: Select Level v

Comment:

* Validated By:

Current Question Difficulty Level: 1

* Question Level: Select Level v

Comment:

* Validated By:
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symbiosis

Question(195)
(Stream: NCHM NTA Set A , Topic: English Language Set A , Subtopic : English Language Set A):185

Direction : Read the following passages carefully and answer the questions that follow.

Stammering is a habit disorder linked with lack of self confidence. Basically for a child to
understand a language, there are four stages. The first is learning to understand the spoken
language and the second is speaking. Both of these develop around age of two years.

The third stage is speaking complex sentences, which develops at around 3rd and 4th i.e. when
the child recognizes the written alphabet. In 80% of children while the 3rd & 4th stage are at play,
the first two get disturbed as something new is being incorporated in the mind.

This is absolutely normal. But what over cautious mothers do is fret a lot and the child develops
fear which later manifests itself as stammering. In fact, most text books on stammering state in
bold that “Had there not been any over cautious mothers, hardly anyone would have suffered
from stammering.” Fluency can be incorporated in the speech of such patients through
hypnosis

By the time the child becomes two years old he/she can

(@)

speak complex sentences

(©)

only understand spoken language

(@)

understand and speak simple language

(©)

write the alphabets

Question(196)
(Stream: NCHM NTA Set A , Topic: English Language Set A, Subtopic : English Language Set A):186

Direction : Read the following passages carefully and answer the questions that follow.

Street theatre in India is a well established ancient art form. Despite the proliferation of modern
means of entertainment and communication, street theatre continues to flourish in India. Street
theatre as a channel of communication has for centuries been propagating reforms by
highlighting social, economic and political issues present in the society. Unlike in the olden
days, its performance is no longer restricted to villages or small localities of the city. Today small
group of performers including students would stage performances to mobilize public opinion or
to help create or raise awareness over an issue of particular public importance.

Themes on substance abuse, AIDS awareness and domestic violence are some of the areas
highlighted by contemporary street theatre. Unlike in regular drama, street dramas employ very
little props and images. The human body become the main tool in which choreography, mime,
dialogues, songs and slogans are extensively used.

Street theatre is one of the most intimate media. Its appeal is to the emotions leading to quick
psychological impact on audiences. By being local and live they also are able to establish not
only direct contact with audience, but being cost effective and flexible they are popular among
all age groups.

Modern means of entertainment and communication street theatre.

(@)

does affect

(©)

does not affect
O

helps popularize

O
help establish

Question(197)
(Stream: NCHM NTA Set A , Topic: English Language Set A, Subtopic : English Language Set A):187
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Current Question Difficulty Level: 1

* Question Level: Select Level v

Comment:

* Validated By:

Current Question Difficulty Level: 1

* Question Level: Select Level v

Comment:

* Validated By:

Current Question Difficulty Level: 1

* Question Level: Select Level v
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Direction : Read the following passages carefully and answer the questions that follow.

Street theatre in India is a well established ancient art form. Despite the proliferation of modern
means of entertainment and communication, street theatre continues to flourish in India. Street
theatre as a channel of communication has for centuries been propagating reforms by
highlighting social, economic and political issues present in the society. Unlike in the olden
days, its performance is no longer restricted to villages or small localities of the city. Today small
group of performers including students would stage performances to mobilize public opinion or
to help create or raise awareness over an issue of particular public importance.

Themes on substance abuse, AIDS awareness and domestic violence are some of the areas
highlighted by contemporary street theatre. Unlike in regular drama, street dramas employ very
little props and images. The human body become the main tool in which choreography, mime,
dialogues, songs and slogans are extensively used.

Street theatre is one of the most intimate media. Its appeal is to the emotions leading to quick
psychological impact on audiences. By being local and live they also are able to establish not
only direct contact with audience, but being cost effective and flexible they are popular among
all age groups.

In the olden days street theatre

(@)

was restricted

(©)

was not restricted

(©)

was opened

(@)

was entertained

Question(198)
(Stream: NCHM NTA Set A, Topic: English Language Set A, Subtopic : English Language Set A):188

Direction : Read the following passages carefully and answer the questions that follow.

Street theatre in India is a well established ancient art form. Despite the proliferation of modern
means of entertainment and communication, street theatre continues to flourish in India. Street
theatre as a channel of communication has for centuries been propagating reforms by
highlighting social, economic and political issues present in the society. Unlike in the olden
days, its performance is no longer restricted to villages or small localities of the city. Today small
group of performers including students would stage performances to mobilize public opinion or
to help create or raise awareness over an issue of particular public importance.

Themes on substance abuse, AIDS awareness and domestic violence are some of the areas
highlighted by contemporary street theatre. Unlike in regular drama, street dramas employ very
little props and images. The human body become the main tool in which choreography, mime,
dialogues, songs and slogans are extensively used.

Street theatre is one of the most intimate media. Its appeal is to the emotions leading to quick
psychological impact on audiences. By being local and live they also are able to establish not
only direct contact with audience, but being cost effective and flexible they are popular among
all age groups.

Street theatre usually

(@)

is distanced

with issues of public importance.

(©)

is performed

(©)

deals

(@)

does not deal

Question(199)
(Stream: NCHM NTA Set A, Topic: English Language Set A, Subtopic : English Language Set A):189

Direction : Read the following passages carefully and answer the questions that follow.

Street theatre in India is a well established ancient art form. Despite the proliferation of modern
means of entertainment and communication, street theatre continues to flourish in India. Street
theatre as a channel of communication has for centuries been propagating reforms by
highlighting social, economic and political issues present in the society. Unlike in the olden
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Comment:

* Validated By:

Current Question Difficulty Level: 1

* Question Level: Select Level v

Comment:

* Validated By:

Current Question Difficulty Level: 1

* Question Level: Select Level v

Comment:
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days, its performance is no longer restricted to villages or small localities of the city. Today small
group of performers including students would stage performances to mobilize public opinion or
to help create or raise awareness over an issue of particular public importance.

Themes on substance abuse, AIDS awareness and domestic violence are some of the areas
highlighted by contemporary street theatre. Unlike in regular drama, street dramas employ very
little props and images. The human body become the main tool in which choreography, mime,
dialogues, songs and slogans are extensively used.

Street theatre is one of the most intimate media. Its appeal is to the emotions leading to quick
psychological impact on audiences. By being local and live they also are able to establish not
only direct contact with audience, but being cost effective and flexible they are popular among
all age groups.

Street theatre is

O
Nothing

O
Costly

(©)

Reasonable

(@)

affordable

as compared to stage.

Question(200)
(Stream: NCHM NTA Set A , Topic: English Language Set A , Subtopic : English Language Set A):190

Direction : Read the following passages carefully and answer the questions that follow.

Street theatre in India is a well established ancient art form. Despite the proliferation of modern
means of entertainment and communication, street theatre continues to flourish in India. Street
theatre as a channel of communication has for centuries been propagating reforms by
highlighting social, economic and political issues present in the society. Unlike in the olden
days, its performance is no longer restricted to villages or small localities of the city. Today small
group of performers including students would stage performances to mobilize public opinion or
to help create or raise awareness over an issue of particular public importance.

Themes on substance abuse, AIDS awareness and domestic violence are some of the areas
highlighted by contemporary street theatre. Unlike in regular drama, street dramas employ very
little props and images. The human body become the main tool in which choreography, mime,
dialogues, songs and slogans are extensively used.

Street theatre is one of the most intimate media. Its appeal is to the emotions leading to quick
psychological impact on audiences. By being local and live they also are able to establish not
only direct contact with audience, but being cost effective and flexible they are popular among
all age groups.

Street theatre creates an/a

(©)

Intimate

(@)

Emotional

O
Mystical

O
Physical

impact on audiences.

Question(201)
(Stream: NCHM NTA Set A , Topic: English Language Set A , Subtopic : English Language Set A):191

Direction : Read the following passages carefully and answer the questions that follow.

One simple physical contact lies behind the formation of a star, gravitational instability. The
concept is not new. Newton first perceived it late in the 17th century.

Imagine a uniform, static cloud of gas in space. Imagine then that the gas is somehow disturbed
so that one small spherical region becomes a little denser than the gas around it so that the
small region's gravitational field becomes slightly stronger. It now attracts more matter to it and
its gravity increases further, causing it to begin to contract. As it contracts its density increases
which increases the gravity even more, so that it picks up even more matter and contracts even
further. The process continues until the small region of gas finally forms a gravitationally bound
object.

https://nchm.nta.ac.in//bucketing/main.jsp

https://nchm.nta.ac.in//bucketing/main.jsp

Current Question Difficulty Level: 1

* Question Level: Select Level v

Comment:

* Validated By:

Current Question Difficulty Level: 1

* Question Level: Select Level v

Comment:

* Validated By:



8/12/2021 https://nchm.nta.ac.in//bucketing/main.jsp

The primary purpose of the passage is to

(@)

describe a static condition

O
Support a theory considered out dated

(©)

depict the successive stages of a phenomenon

(@)

demonstrate the evolution of the meaning of term

Question(202)
(Stream: NCHM NTA Set A, Topic: English Language Set A, Subtopic : English Language Set A):192

Direction : Read the following passages carefully and answer the questions that follow.

One simple physical contact lies behind the formation of a star, gravitational instability. The
concept is not new. Newton first perceived it late in the 17th century.

Imagine a uniform, static cloud of gas in space. Imagine then that the gas is somehow disturbed
so that one small spherical region becomes a little denser than the gas around it so that the
small region's gravitational field becomes slightly stronger. It now attracts more matter to it and
its gravity increases further, causing it to begin to contract. As it contracts its density increases
which increases the gravity even more, so that it picks up even more matter and contracts even
further. The process continues until the small region of gas finally forms a gravitationally bound
object.

It can be inferred from this passage that the author views the information contained within it as:

(©)

Lacking in elaboration

(©)

Original but obscure

(@)

speculative and unprofitable

(©)

Uncomplicated and traditional

Question(203)
(Stream: NCHM NTA Set A , Topic: English Language Set A , Subtopic : English Language Set A):193

Direction : Read the following passages carefully and answer the questions that follow.

One simple physical contact lies behind the formation of a star, gravitational instability. The
concept is not new. Newton first perceived it late in the 17th century.

Imagine a uniform, static cloud of gas in space. Imagine then that the gas is somehow disturbed
so that one small spherical region becomes a little denser than the gas around it so that the
small region's gravitational field becomes slightly stronger. It now attracts more matter to it and
its gravity increases further, causing it to begin to contract. As it contracts its density increases
which increases the gravity even more, so that it picks up even more matter and contracts even
further. The process continues until the small region of gas finally forms a gravitationally bound
object.

With which following words can you replace the word uniform as given in this passage.
O

Uniting

O

Varying

O

Gaseous

O
Unvarying
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Question(204)
(Stream: NCHM NTA Set A , Topic: English Language Set A, Subtopic : English Language Set A):194

Direction : Read the following passages carefully and answer the questions that follow.

One simple physical contact lies behind the formation of a star, gravitational instability. The
concept is not new. Newton first perceived it late in the 17th century.

Imagine a uniform, static cloud of gas in space. Imagine then that the gas is somehow disturbed
so that one small spherical region becomes a little denser than the gas around it so that the
small region's gravitational field becomes slightly stronger. It now attracts more matter to it and
its gravity increases further, causing it to begin to contract. As it contracts its density increases
which increases the gravity even more, so that it picks up even more matter and contracts even
further. The process continues until the small region of gas finally forms a gravitationally bound
object.

What does the underlined word ‘it’ stand for in the passage?

(©)

Gravitational instability

O
Cloud of gas

(@)

Small spherical denser region

O
Matter

Question(205)
(Stream: NCHM NTA Set A , Topic: English Language Set A , Subtopic : English Language Set A):195

Direction : Read the following passages carefully and answer the questions that follow.

In our approach to life, be it pragmatic or otherwise, a basic fact that confronts us squarely and
mistakenly is desire for peace, security and happiness. Different forms of life at different levels
of existence make up the teeming denizens of this earth of ours. And no matter whether they
belong to the higher groups such as animals, all beings primarily seek peace, comfort and
security. Life is as dear to a mute creature as it is to Man. Even the lowliest insect strives for
protection against dangers that threaten its life. Just as each one of us wants to live and not to
die, so do all other creatures.

What is the main point of the author

(©)

Different forms of life are found on earth

(@)

Different levels of existence are possible in nature

(@)

Peace and security are the chief goals of all living beings

(©)

Even the weakest creature struggles to protect its life.

Question(206)
(Stream: NCHM NTA Set A , Topic: English Language Set A , Subtopic : English Language Set A):196

Direction : Read the following passages carefully and answer the questions that follow.

In our approach to life, be it pragmatic or otherwise, a basic fact that confronts us squarely and
mistakenly is desire for peace, security and happiness. Different forms of life at different levels
of existence make up the teeming denizens of this earth of ours. And no matter whether they
belong to the higher groups such as animals, all beings primarily seek peace, comfort and
security. Life is as dear to a mute creature as it is to Man. Even the lowliest insect strives for
protection against dangers that threaten its life. Just as each one of us wants to live and not to
die, so do all other creatures.

Which one of the following assumptions is essential for developing the author’s position.

(©)

All forms of life have a single overriding goal.
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O

The will to survive of a creature is identified with a desire for peace.
O

All beings are divided into higher and lower groups.

O

A parallel is drawn between happiness and life and pain and death.

Question(207)
(Stream: NCHM NTA Set A , Topic: English Language Set A , Subtopic : English Language Set A):197

Direction : Read the following passages carefully and answer the questions that follow.

The capitalist system of the society does not foster healthy relations among human beings. A
few people own all the means of production and others though nominally few have to sell their
labour under conditions imposed upon them, the emphasis of capitalism being on the supreme
importance of material wealth. The intensity of its appeal is to the acquisitive intensity. It
promotes worship of economic power with little regard to the means employed for its acquisition
and the end that it serves. By its exploitation of human beings to the limits of endurance, its
concentration is on the largest profit rather than maximum production.

Thus division of human family is done on the basis of economic circumstances. All this is
injurious to division of human dignity. And when the harrowed Poor turn to the founders of
religion for succor, they rather offer a subtle defence of the established order. They promise
future happiness for their present suffering and conjure up vision of paradise to redress the
balance to soothe the suffering and the revolt of the tortured man. The system imposes injustice,
religion justifies it.

The passage indicates the capitalist system is

(@)

Fair

(©)

Ambitious

(@)

Prosperous

(@)

Dehumanizing

Question(208)
(Stream: NCHM NTA Set A , Topic: English Language Set A, Subtopic : English Language Set A):198

Direction : Read the following passages carefully and answer the questions that follow.

The capitalist system of the society does not foster healthy relations among human beings. A
few people own all the means of production and others though nominally few have to sell their
labour under conditions imposed upon them, the emphasis of capitalism being on the supreme
importance of material wealth. The intensity of its appeal is to the acquisitive intensity. It
promotes worship of economic power with little regard to the means employed for its acquisition
and the end that it serves. By its exploitation of human beings to the limits of endurance, its
concentration is on the largest profit rather than maximum production.

Thus division of human family is done on the basis of economic circumstances. All this is
injurious to division of human dignity. And when the harrowed Poor turn to the founders of
religion for succor, they rather offer a subtle defence of the established order. They promise
future happiness for their present suffering and conjure up vision of paradise to redress the
balance to soothe the suffering and the revolt of the tortured man. The system imposes injustice,
religion justifies it.

The established order is supported by religion to

(©)

alleviate the suffering of the poor in the capitalist system.

(@)

perpetuate the injustice imposed by the capitalist system.

©)

balance the suffering of the poor with hope of future rewards

(@)

help the tortured man to seek redress.
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Question(209)
(Stream: NCHM NTA Set A , Topic: English Language Set A , Subtopic : English Language Set A):199

Direction : Read the following passages carefully and answer the questions that follow.

The capitalist system of the society does not foster healthy relations among human beings. A
few people own all the means of production and others though nominally few have to sell their
labour under conditions imposed upon them, the emphasis of capitalism being on the supreme
importance of material wealth. The intensity of its appeal is to the acquisitive intensity. It
promotes worship of economic power with little regard to the means employed for its acquisition
and the end that it serves. By its exploitation of human beings to the limits of endurance, its
concentration is on the largest profit rather than maximum production.

Thus division of human family is done on the basis of economic circumstances. All this is
injurious to division of human dignity. And when the harrowed Poor turn to the founders of
religion for succor, they rather offer a subtle defence of the established order. They promise
future happiness for their present suffering and conjure up vision of paradise to redress the
balance to soothe the suffering and the revolt of the tortured man. The system imposes injustice,
religion justifies it.

In a capitalist system

(©)

the means justify the ends

(@)

the ends justify the means

(©)

the means endorsed by religion are strictly followed

(@)

means which lead to exploitation are strictly prohibited

Question(210)
(Stream: NCHM NTA Set A, Topic: English Language Set A, Subtopic : English Language Set A):200

Direction : Read the following passages carefully and answer the questions that follow.

The capitalist system of the society does not foster healthy relations among human beings. A
few people own all the means of production and others though nominally few have to sell their
labour under conditions imposed upon them, the emphasis of capitalism being on the supreme
importance of material wealth. The intensity of its appeal is to the acquisitive intensity. It
promotes worship of economic power with little regard to the means employed for its acquisition
and the end that it serves. By its exploitation of human beings to the limits of endurance, its
concentration is on the largest profit rather than maximum production.

Thus division of human family is done on the basis of economic circumstances. All this is
injurious to division of human dignity. And when the harrowed Poor turn to the founders of
religion for success, they rather offer a subtle defense of the established order. They promise
future happiness for their present suffering and conjure up vision of paradise to redress the
balance to soothe the suffering and the revolt of the tortured man. The system imposes injustice,
religion justifies it.

Capitalism is injurious to human relations because it divides society into groups ie

(©)

working and non-working

(©)

exploiters and exploited

(@)

religious and irreligious

(©)

buyers and sellers
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